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Exercise | The Tissues

1. Meristems are

A. Mature cells

B. Well differentiated cells

C. Embryonal cells

D. None of these

Answer: C



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AyaQYhocL4SL
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2. Interfascicular cambium is

A. Primary meristem

B. Secondary meristem

C. Abnormal meristem

D. None of these

Answer: B

° Watch Video Solution

3. Intercalary meristem occurs mainly in

A. Some dicot leaves

B. Some monocot stems

C. In all monocot stems


https://dl.doubtnut.com/l/_AyaQYhocL4SL
https://dl.doubtnut.com/l/_z4eLTezBpCex
https://dl.doubtnut.com/l/_F5S1zQuUTLay

D. Dicot stem and roots

Answer: B

° Watch Video Solution

4, Meristematic activities are best seen in

A. Fruit

B. Root and shoot apices

C. At leaf tips

D. All of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_F5S1zQuUTLay
https://dl.doubtnut.com/l/_fpbs06IprcFw

5. Apical, intercalary and lateral meristems are recognised on the basis of

their

A. Specific function

B. Position

C. Mode of formation

D. None of these

Answer: B

o Watch Video Solution

6. Primary meristems are those which originate

A. Since birth from embryonal tissue

B. During secondary meristem

C. By dedifferentiation

D. None of the above


https://dl.doubtnut.com/l/_QVSZc8OZFia3
https://dl.doubtnut.com/l/_SltQCte4ZeyQ

Answer: A

° Watch Video Solution

7. Examples of lateral meristem

A. Fascicular cambium

B. Inter fascicular cambium

C. Cork cambium

D. All

Answer: D

° Watch Video Solution

8.Tissue is made up of group of

A. living cells only


https://dl.doubtnut.com/l/_SltQCte4ZeyQ
https://dl.doubtnut.com/l/_YoT6j2hFPFMO
https://dl.doubtnut.com/l/_kGRbI37gusDX

B. dead cell only

C. both dead and living cells

D. All

Answer: D

° Watch Video Solution

9. Examples of dead cells are

A. Cork cells, sclerides, Fibers, Xylem ressels

B. Velamen cells, cork cells, collenchyma cells, xylem

C. Xylem tracheids, vessels, fibres and xylem parenchyma

D. All of the above

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kGRbI37gusDX
https://dl.doubtnut.com/l/_96XBkth88P2j
https://dl.doubtnut.com/l/_YDVHXCaJ0LVs

10. Lignified tissues are

A. Permeable for gases, solutes and solvents

B. Provided with simple or bordered pits

C. Meant for mechanical strength or conduction

D. All of the above

Answer: D

o Watch Video Solution

11. Collenchyma is capable of providing mechanical strength because of

having

A. Thick lignification

B. Thick cuticularization

C. Thick suberization

D. More thickened corners


https://dl.doubtnut.com/l/_YDVHXCaJ0LVs
https://dl.doubtnut.com/l/_07d8t8q7MDwI

Answer: D

° Watch Video Solution

12. Bast fibres are obtained from

A. Epidermis

B. Seed surface

C. Phloem

D. Pith

Answer: C

° Watch Video Solution

13. Parenchyma cells are associated with acitivity like

A. Assimilation and storage


https://dl.doubtnut.com/l/_07d8t8q7MDwI
https://dl.doubtnut.com/l/_FJCIys5H6zEM
https://dl.doubtnut.com/l/_tbzNXULaP1QQ

B. Conduction

C. Dedifferentiation

D. All of these

Answer: D

° Watch Video Solution

14. The living components of xylem are:

A. Xylem tracheids

B. Xylem vessels

C. Xylem fibres

D. Xylem parenchyma

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_tbzNXULaP1QQ
https://dl.doubtnut.com/l/_zq1YnzGixDed
https://dl.doubtnut.com/l/_Kv4VWsW7kPHT

15. Collenchymatous hypodermis is found in

A. Dicot stem

B. Monocot stem

C. Dicot roots

D. Monocot leaf

Answer: A

o Watch Video Solution

16. Lignin is most abundant in

A. Collenchyma

B. Xylem

C. Phloem

D. Chlorenchyma


https://dl.doubtnut.com/l/_Kv4VWsW7kPHT
https://dl.doubtnut.com/l/_Csuc8mxtSQiF

Answer: B

° Watch Video Solution

17. At maturity, sieve tubes do not possess

A. Cell wall

B. Nucleus

C. Cytoplasm

D. Vacuoles

Answer: B

° Watch Video Solution

18. Companion cells are

A. Sclerenchymatous in nature


https://dl.doubtnut.com/l/_Csuc8mxtSQiF
https://dl.doubtnut.com/l/_Mc8bdDbjvPHp
https://dl.doubtnut.com/l/_Mh5Qr6JV7K4g

B. Parenchymatous in nature

C. Meant for conduction of food

D. None of these above

Answer: B

° Watch Video Solution

19. Sieve tube is

A. Vessel like structure

B. Provided with oblique septa

C. Main conducting element for translocation of food

D. All of the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Mh5Qr6JV7K4g
https://dl.doubtnut.com/l/_pATou9yOLxpN
https://dl.doubtnut.com/l/_b7LBC1fyPoSl

20. Complex tissues are

A. 1)Xylem and phloem

B. 2)Heterogeneous tissues

C. 3)Conductive tissues

D. 4)All of these

Answer: D

o Watch Video Solution

21. Xylem vessels are not found in

A. Pteridophytes

B. Gymnosperms

C. Bryophytes

D. All the above


https://dl.doubtnut.com/l/_b7LBC1fyPoSl
https://dl.doubtnut.com/l/_pxnJjda7SJU1

Answer: D

° Watch Video Solution

22. Albuminous cells of gymnosperms are equivalent to

A. Sieve tubes

B. Sieve cells

C. Companion cells

D. Cork cambium

Answer: C

° Watch Video Solution

23. Centrifugal development of xylem is

A. Stem


https://dl.doubtnut.com/l/_pxnJjda7SJU1
https://dl.doubtnut.com/l/_YJZNKnB8bDE2
https://dl.doubtnut.com/l/_uZTOmKS1oMaJ

B. Root

C. Lateral root

D. None of these

Answer: A

° Watch Video Solution

24. Living cells showing mechanical function

A. Sclerenchyma

B. Stone cells

C. Aerenchyma

D. Collenchyma

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uZTOmKS1oMaJ
https://dl.doubtnut.com/l/_THWHdvYsam4D
https://dl.doubtnut.com/l/_6Y0MdnFq3KBs

25. Cells are less lignified in

A. Xylem tracheids

B. Phloem fibres

C. Xylem vessels

D. Hard fibers

Answer: B

° Watch Video Solution

26. Example for primary meristem

A. Apical meristem

B. Inter calarymeristem

C. Fascicular cambium

D. All


https://dl.doubtnut.com/l/_6Y0MdnFq3KBs
https://dl.doubtnut.com/l/_fiVsXgeS1zmB

Answer: D

° Watch Video Solution

27. Lateral meristem is

A. Procambium and phelloderm

B. Interfascicular and phelloderm

C. Phellogen and phelloderm

D. Phellogen and fascicular cambium

Answer: D

° Watch Video Solution

28. Thickening material present in wall of collenchyma is

A. Cellulose


https://dl.doubtnut.com/l/_fiVsXgeS1zmB
https://dl.doubtnut.com/l/_97LoR3tjMNVh
https://dl.doubtnut.com/l/_BkRYVds9sDLo

B. Hemi cellulose

C. Pectin

D. All

Answer: D

° Watch Video Solution

29. What do you mean by closed vascular bundles

A. Cambium present

B. Cambium absent

C. Periderm absent

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_BkRYVds9sDLo
https://dl.doubtnut.com/l/_sAe704hjw5Pd
https://dl.doubtnut.com/l/_HjAcwegV96ef

30. During the formation of the primary plant body specific regions of

apical meristem produces

A. Dermal tissues
B. Ground tissues
C. Vascular tissues

D. All

Answer: D

o Watch Video Solution

31. Which one of the following is not a lateral meristem ?

A. Interfascicular cambium
B. Fascicular cambium
C. Phellogen

D. Intercalary meristem


https://dl.doubtnut.com/l/_HjAcwegV96ef
https://dl.doubtnut.com/l/_T5Sn0bF9GMsU

Answer: D

° Watch Video Solution

32.Select the true statement

A. All apical meristems are lateral

B. All lateral meristems are secondary

C. All secondary meristems are lateral

D. All intercalary meristems are secondary

Answer: C

° Watch Video Solution

33. "Curly top" of tobacco is caused by "A'and it spreads through a plant

via "B". Aand B are


https://dl.doubtnut.com/l/_T5Sn0bF9GMsU
https://dl.doubtnut.com/l/_REKOPf3N19zs
https://dl.doubtnut.com/l/_aFgHR6t5K7Jj

A. Bacteria and cell sap

B. Virus and Xylem

C. Fungi and Phloem

D. Virus and Phloem

Answer: D

o Watch Video Solution

34. A tissue made up of only one type of differentiated cells is

A. Meristem

B. Phloem

C. Xylem

D. Parenchyma

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_aFgHR6t5K7Jj
https://dl.doubtnut.com/l/_4Ba2an05pRhD

35. Simple tissues is/are

A. Parenchyma

B. Collenchyma

C. Sclerenchyma

D. All

Answer: D

° Watch Video Solution

36. The seed coats of legumes are hard due to

A. Meristem

B. Fibers

C. Collenchyma


https://dl.doubtnut.com/l/_4Ba2an05pRhD
https://dl.doubtnut.com/l/_H7EK02LzQTdM
https://dl.doubtnut.com/l/_TEEW76WWsQoK

D. Sclereids

Answer: D

° Watch Video Solution

37. Conjoint, collateral, endarch and closed vascular bundles are found in

A. All stems and leaves

B. Only the leaves of dicot and monocot plants

C. Leaves and stems of monocot plants only

D. Monocot stems, leaves of dicot and monocot plants

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TEEW76WWsQoK
https://dl.doubtnut.com/l/_5HNQEU1C8Eqg

38. The cell structure present in collenchyma but absent in sclerenchyma

is

A. Lignified cell walls

B. Unevenly thicked cell walls

C. Vacuoles

D. Pits in cell wall

Answer: C

o Watch Video Solution

39. Presence of xylem vessels is a characteristic feature of

A. Thallophytes

B. Pteridophytes

C. Gymnosperms

D. Angiosperms


https://dl.doubtnut.com/l/_i7rxdBqoRpL0
https://dl.doubtnut.com/l/_cwWpq07sL544

Answer: D

° Watch Video Solution

40.The type of meristem absent in most of the monocot plants

A. Apical meristems

B. Intercalary meristems

C. Lateral meristems

D.Both 1and 2

Answer: C

° Watch Video Solution

41.The position of root apical meristem is

A. Behind central cylinder


https://dl.doubtnut.com/l/_cwWpq07sL544
https://dl.doubtnut.com/l/_kwel7qp4Hkgq
https://dl.doubtnut.com/l/_Wq02lRKKBlpj

B. Subterminal

C. Lateral

D. Behind cambium

Answer: B

° Watch Video Solution

42, Interfascicular cambium and cork cambium are

A. Embryonic meristems

B. Intercalary meristems

C. Lateral meristems

D. Primary meristems

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Wq02lRKKBlpj
https://dl.doubtnut.com/l/_W4nI2oXTAWNj
https://dl.doubtnut.com/l/_zGDpl3O0Hmqo

43. Collenchyma differs from sclerenchyma in

A. Wide lumen

B. presence of

C. Protoplasm at maturity

D. Uniformly thick cell walls

Answer: B

o Watch Video Solution

44. Choose the character unrelated to parenchyma

A. It is made up of similar type of cells

B. It has thick lignified secondary cell walls

C. It is chiefly useful for storage of food

D. It is with or without intercellular spaces


https://dl.doubtnut.com/l/_zGDpl3O0Hmqo
https://dl.doubtnut.com/l/_FGSwAtCs2hCk

Answer: B

° Watch Video Solution

45. According to Esau which virus is transported through phloem

A. Bunchy top virus

B. Curly top virus

C. Tungro virus

D. TMV

Answer: B

° Watch Video Solution

46. Which book of Esau is refierred as Webster.s of plant biology

A. Plant anatomy


https://dl.doubtnut.com/l/_FGSwAtCs2hCk
https://dl.doubtnut.com/l/_ysiMLNQnx4cN
https://dl.doubtnut.com/l/_xK9NM1nF2ZWG

B. Anatomy of seed plants

C. Anatomy of vascular plants

D. Anatomy of flowering plants

Answer: B

° Watch Video Solution

47. Highly thickened wall and very narrow lumen are characteristic

features of

A. Sclerenchyma

B. Fibres

C. Collenchyma

D. Parenchyma

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xK9NM1nF2ZWG
https://dl.doubtnut.com/l/_pKKZKMWZUuQQ

48. Simple tissue present in mesocarp, endocarp of Cocos drupe is

A. Parenchyma

B. Collenchyma

C. Sclerenchyma

D. Meristem

Answer: C

o Watch Video Solution

49.The swollen petiole of Eichhornia is made up of

A. Sclerenchyma

B. Meristem

C. Aerenchyma

D. Collenchyma


https://dl.doubtnut.com/l/_pKKZKMWZUuQQ
https://dl.doubtnut.com/l/_8AJhw5AHRGO8
https://dl.doubtnut.com/l/_8VijKcjnqvxg

Answer: C

° Watch Video Solution

50. Jute, Flax, Hemp fibres are morphologically

A. Pericyclic fibres

B. Xylem fibres

C. Phloem fibres

D. Medullary fibres

Answer: C

° Watch Video Solution

51. Enucleated living plant cells are

A.RBC


https://dl.doubtnut.com/l/_8VijKcjnqvxg
https://dl.doubtnut.com/l/_mOcUhCepZr1o
https://dl.doubtnut.com/l/_IMwkSgL3vZtX

B. Tracheids

C. Mature sieve elements

D. Companion cells

Answer: C

° Watch Video Solution

52. Function of companion cells is

A. Conduction

B. Maintaining pressure gradient in sieve tube element

C. Mechanical support

D. No specific function

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IMwkSgL3vZtX
https://dl.doubtnut.com/l/_Vz7oAUzHLt0D
https://dl.doubtnut.com/l/_60OebjR5r966

53. Enucleated living cells found in the angiospermic plant body are

A. Companion cells

B. Mature sieve tube elements

C. Vessels

D. Tracheids

Answer: B

o Watch Video Solution

54. Pholem parenchyma is absent in

A. Pea

B. Maize

C. Hibiscus

D. Datura


https://dl.doubtnut.com/l/_60OebjR5r966
https://dl.doubtnut.com/l/_QfqWhJF1YbEu

Answer: B

° Watch Video Solution

55. Cells of collenchyma differ from parenchyma cells mainly in

A. Lacking protoplasm

B. Possesing unevenly thickened walls

C. Containing chloroplasts

D. Being meristematic

Answer: B

° Watch Video Solution

56. The type of meristems occurring in grasses and regenerate parts

removed by grazing herbivores


https://dl.doubtnut.com/l/_QfqWhJF1YbEu
https://dl.doubtnut.com/l/_dCkiZa522JxV
https://dl.doubtnut.com/l/_c5lPnH2BmlgS

A. Intercalary meristems

B. Lateral meristems

C. Secondary meristems

D. Cork cambium

Answer: A

o Watch Video Solution

57. Albuminous cells of phloem in gymnosperms are analogous to

A. Parenchyma of phloem in Dicots

B. Parenchyma of phloem in monocots

C. Companion cells of phloem in angiosperms

D. Sieve tube elements of phloem in angiosperms

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_c5lPnH2BmlgS
https://dl.doubtnut.com/l/_cKbZvRIB4rzq

58.These are cylindrical meristems

A. Cork cambium

B. Inter fascicular cambium

C. Fascicular vascular cambium

D. Apical meristems

Answer: D

o Watch Video Solution

59. Phloem does not have parenchyma in

A. Monocot stem

B. Dicot stem

C. Dicot root


https://dl.doubtnut.com/l/_cKbZvRIB4rzq
https://dl.doubtnut.com/l/_hZj6ldMLpy3n
https://dl.doubtnut.com/l/_2ZTnrVfxKwkr

D. Dicot leaf

Answer: A

° Watch Video Solution

60. Chief food conducting cells of phloem in gymnosperm are

A. Sieve cells

B. Sieve tubes

C. Companion cells

D. Sieve tube elements

Answer: A

o Watch Video Solution

61. Axillary bud is constituted by


https://dl.doubtnut.com/l/_2ZTnrVfxKwkr
https://dl.doubtnut.com/l/_sfEIPLBFUjmK
https://dl.doubtnut.com/l/_uRcLINf6ua9M

A. Lateral meristem, because axillary buds are located laterally

B. Entire shoot apical meristem

C. Some cells left behind from shoot apical meristem

D. Secondary meristem

Answer: C

o Watch Video Solution

62. Cell walls show unevenly thickened hypodermis in

A. Maize

B. Sunflower

C. Jowar

D. Bajra

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_uRcLINf6ua9M
https://dl.doubtnut.com/l/_fdcPxu5IpW3r

63. Storage tissue is

A. Collenchyma

B. Parenchyma

C. Sclerenchyma

D. Phloem

Answer: B

° Watch Video Solution

64. Metabolical mechanical tissue is

A. Chlorenchyma

B. Sclerenchyma

C. Parenchyma


https://dl.doubtnut.com/l/_fdcPxu5IpW3r
https://dl.doubtnut.com/l/_gqrCNahIyQMQ
https://dl.doubtnut.com/l/_8leWuZDTyrmU

D. Collenchyma

Answer: D

° Watch Video Solution

65. The fruit walls of nuts are hard due to

A. Fibres

B. Parenchyma

C. Sclereids

D. CaCOs crystals

Answer: C

o Watch Video Solution

66. Simple tissue with lignification is


https://dl.doubtnut.com/l/_8leWuZDTyrmU
https://dl.doubtnut.com/l/_X6e10Y63kw5i
https://dl.doubtnut.com/l/_6Lke4a9hqJXa

A. Parenchyma

B. Sclerenchyma

C. Collenchyma

D. Xylem

Answer: B

o Watch Video Solution

67. Bulk portion of primary organs in plants is made up of

A. Collenchyma

B. Parenchyma

C. Sclerenchyma

D. Vascular tissue

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6Lke4a9hqJXa
https://dl.doubtnut.com/l/_jlWrSmHMRSuS

68. Collenchyma is useful

A. To provide mechanical support to the young aerial parts of Dicots

B. To perform photosynthesis

C. For food conduction

D.1&2

Answer: D

o Watch Video Solution

69. Apical, intercalary and lateral meristems are recognised on the basis

of their

A. Function

B. Position

C. Plane of division


https://dl.doubtnut.com/l/_jlWrSmHMRSuS
https://dl.doubtnut.com/l/_npqZVKQc4fO8
https://dl.doubtnut.com/l/_kXUaJihKzdQT

D. All

Answer: B

° Watch Video Solution

70. Non metabolical mechanical tissue is

A. Collenchyma

B. Xylem

C. Sclerenchyma

D. Parenchyma

Answer: C

o Watch Video Solution

71. Which meristem bring about increase in the girth of trees?


https://dl.doubtnut.com/l/_kXUaJihKzdQT
https://dl.doubtnut.com/l/_7ljsGNxzc9yB
https://dl.doubtnut.com/l/_nflvPCzoCb48

A. Length

B. Diameter

C1&2

D.1or?2

Answer: B

o Watch Video Solution

72. Lateral meristems that are formed by dedifferentiation are

A. Cork cambium

B. Inter fascicular cambium

C. Fascicular cambium

D.1&2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_nflvPCzoCb48
https://dl.doubtnut.com/l/_OWO9nXocIOR7

73. A primary meristem that produces secondary tissues is

A. Apical meristem

B. Cork cambium

C. Inter fascicular cambium

D. Fascicular vascular cambium

Answer: D

o Watch Video Solution

74. Component of phloem which is absent in most of the monocots is

A. Sieve tubes

B. Companion cells

C. Phloem fibres


https://dl.doubtnut.com/l/_OWO9nXocIOR7
https://dl.doubtnut.com/l/_iVX29Tg2y7j0
https://dl.doubtnut.com/l/_BQXsffFnJFXz

D. Phloem parenchyma

Answer: D

° Watch Video Solution

75. Living elements of xylem are

A. Tracheids

B. Vessels

C. Xylem fibres

D. Xylem parenchyma

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BQXsffFnJFXz
https://dl.doubtnut.com/l/_vodYv2rsY96n

76. Who was the director of Anatomy and Morphology, Missouri Botanical

garden

A. Dr.K.Esau

B. Hanstein

C. Peter Raven

D. Nageli

Answer: C

o Watch Video Solution

77. Meristematic cells are

A. thin walled, isodiametric, large nucleate and less protoplasmic.

B. thin walled, isodiametric, large nucleate and dense protoplasmic

C. thick walled, isodiametric, non-nucleate and dense protoplasmic

D. thick walled, columnar, large nucleate and dense protoplasmic


https://dl.doubtnut.com/l/_UvQiIOgs3RQm
https://dl.doubtnut.com/l/_d3YLcNZch0xd

Answer: B

° Watch Video Solution

78. Which of the following tissue/s can regain the power of

multiplication?

A. Parenchyma

B. Collenchyma

C. Sclerenchyma

D. Parenchyma and Collenchyma

Answer: D

° Watch Video Solution

79. Collenchyma can be differentiated from parenchyma by


https://dl.doubtnut.com/l/_d3YLcNZch0xd
https://dl.doubtnut.com/l/_YN08FhhCgEdH
https://dl.doubtnut.com/l/_47XQZukNGa6B

A. Cellulosic wall

B. Living protoplasm

C. Pecto-cellulosic deposits at corners

D. No protoplasm

Answer: C

o Watch Video Solution

80. The word .pit. in plant histology means

A. A thickened area in secondary wall

B. An unthickened area in secondary wall

C. A callose pad on sieve plate

D. A cyclose the vessel

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_47XQZukNGa6B
https://dl.doubtnut.com/l/_hD0QbwXyfgVO

81. A mature sieve tube differs from a vessel in

A. In lacking a functional nucleus
B. In the absence of lignified walls
C.In lacking cytoplasm

D. In having nucleus

Answer: B

° Watch Video Solution

82.The function of companion cells is to

A. Providing energy to sieve elements for active transport

B. Loading of sucrose into sieve elements by passive transport

C. Providing water to phloem


https://dl.doubtnut.com/l/_hD0QbwXyfgVO
https://dl.doubtnut.com/l/_kaR6l2Rgc3CA
https://dl.doubtnut.com/l/_ZLtKsyvVaRKf

D. Loading of sucrose into sieve tube elements by active transport

Answer: D

° Watch Video Solution

83. Lateral meristems are active in

A. Mature parts of stem and root

B. Growing tips of main stem

C. In between mature tissues

D. Root apex

Answer: A

o Watch Video Solution

84. Rejuvenation of growth of cut grass is accomplished by


https://dl.doubtnut.com/l/_ZLtKsyvVaRKf
https://dl.doubtnut.com/l/_67a5g9hDtpCN
https://dl.doubtnut.com/l/_fH4GRdz9mO7l

A. Apical meristems

B. Intercalary meristems

C. Lateral meristems

D. Cylindrical meristems

Answer: B

o Watch Video Solution

85. Which of following is found as sub epidermal tissue in young stem,

leaf petioles of dicots

A. Parenchyma

B. Cambium

C. Collenchyma

D. Conjunctive tissue

Answer: C



https://dl.doubtnut.com/l/_fH4GRdz9mO7l
https://dl.doubtnut.com/l/_Nu6cJcutLFCv

| o Watch Video Solution

86. Vascular bundles of Gymnosperms do not have

A. Seive tubes, companion cells and vessels

B. Tracheids, sieve tubes, parenchyma

C. Fibres, parenchyma, seive cells

D. Albuminous cells, vessels, tracheids

Answer: A

o Watch Video Solution

87.In the sieve tubes pressure gradient is maintained with the help of

A. Phloem fibres

B. Phloem parenchyma

C. Sieve cells


https://dl.doubtnut.com/l/_Nu6cJcutLFCv
https://dl.doubtnut.com/l/_BoHLguJ44x2z
https://dl.doubtnut.com/l/_rrz8z2qBS3Oy

D. Companion cells

Answer: D

° Watch Video Solution

88. Phloem parenchyma differs from xylem parenchyma in storing

A. Resin, latex, mucilage

B. Gums, proteins, starch

C. Fats and tanins

D. Proteins, fats, starch

Answer: A

o Watch Video Solution

89. Complex tissues are not found in:


https://dl.doubtnut.com/l/_rrz8z2qBS3Oy
https://dl.doubtnut.com/l/_IOLGGpfR3hAk
https://dl.doubtnut.com/l/_F6Bm9613ZsRf

A. Amphibians of plant kingdom

B. First sporophyll bearing plants

C. Primitive seed bea plants

D. Highly evolved seed bearing plants

Answer: A

o Watch Video Solution

90. Mature sieve tube has

A. Nucleus

B. Cytoplasm only

C. Nucleus and cytoplasm

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_F6Bm9613ZsRf
https://dl.doubtnut.com/l/_nVdOps8vDu0W

91. Living mature cell which lacks nucleus is

A. Xylem vessel

B. companion cells

C. Sieve cells

D. None of these

Answer: B

o Watch Video Solution

92. Phloem parenchyma is absent in

A. leaf of monocot

B. Leaf of dicot

C. Stem of Monocot


https://dl.doubtnut.com/l/_nVdOps8vDu0W
https://dl.doubtnut.com/l/_E8Efd3nPKWZ2
https://dl.doubtnut.com/l/_spYuz3HLjpQX

D. All

Answer: D

° Watch Video Solution

93. Vessels and companion cells are characteristic feature of

A. Angiosperm

B. Gymnosperm

C. Bryophyta

D. All

Answer: D

o Watch Video Solution

94. All are cylindrical meristems except


https://dl.doubtnut.com/l/_spYuz3HLjpQX
https://dl.doubtnut.com/l/_R4vSpthsJFmv
https://dl.doubtnut.com/l/_nB6ZeBXFzSWY

A. Apical meristems

B. Intercalary meristems

C. All primary meristems

D. Lateral meristems

Answer: D

o Watch Video Solution

95. Simple tissue that is not formed from vascular cambium is

A. Collenchyma

B. Sclerenchyma

C. Parenchyma

D. Meristem

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nB6ZeBXFzSWY
https://dl.doubtnut.com/l/_hM6PqsbC7TBH

Exercise | The Tissues Systems

1. Guard cells of stomata are very closely associated with

A. Subsidiary cells
B. Complementary cells
C. Epithem

D. Epidermal cells

Answer: A

° Watch Video Solution

2.Sunken stomata are found in

A. Leaflets of Cycas

B. Pinus needles


https://dl.doubtnut.com/l/_hM6PqsbC7TBH
https://dl.doubtnut.com/l/_vsDttqYMvP2l
https://dl.doubtnut.com/l/_QL6KF1hnbtxh

C. Nerium leaves

D. All of these

Answer: D

° Watch Video Solution

3. Stomata are not found on the leaves of

A. Submerged hydrophytes

B. Attached floating hydrophytes

C. Marshy hydrophytes

D. All of the above

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QL6KF1hnbtxh
https://dl.doubtnut.com/l/_NXnYcR9m3u4g

4, Bicollateral vascular bundles are

A. Always open

B. Provided with bundle sheath

C. Devoid of companion cells in phloem element

D. Bundles with a phloem group

Answer: A

o Watch Video Solution

5.Vascular bundles are called radial when

A. On different radii

B. On the same radius

C.Both (1) and (2)

D. none of these


https://dl.doubtnut.com/l/_7QKRFE1ABEsH
https://dl.doubtnut.com/l/_3ZQE7muWvklE

Answer: A

° Watch Video Solution

6. Conjoint collateral and open vascular bundles with xylem endarch
occur in stem of

A.Dracaena

B. Maize

C. Wheat

D. Helianthus

Answer: D

° Watch Video Solution

7. Conjoint and open vascular bundles are seen in

A) Dicot stem



https://dl.doubtnut.com/l/_3ZQE7muWvklE
https://dl.doubtnut.com/l/_C5Z3M0auUCMh
https://dl.doubtnut.com/l/_5HXhUEfeaRse

B) Monocot stem

C) Dicot leaf

D)Monocot leaf

A.A /B only

B.Aonly

C.C,Donly

D. B, Conly

Answer: B

o Watch Video Solution

8. Root hairs are

A. Unicellular branched

B. Unicellular unbranched

C. Multicellular uniseriate


https://dl.doubtnut.com/l/_5HXhUEfeaRse
https://dl.doubtnut.com/l/_eZYoVAleVyT5

D. Multicellular multiseriate

Answer: B

° Watch Video Solution

9. The outermost layer of the primary plant body is made up of

A. Collenchyma

B. Sclerenchyma

C. Parenchyma

D. Aerenchyma

Answer: C

o Watch Video Solution

10. The guard cells of the stomata present in the epidermis of grasses are


https://dl.doubtnut.com/l/_eZYoVAleVyT5
https://dl.doubtnut.com/l/_9COPnvIWcKZN
https://dl.doubtnut.com/l/_jl9udgJ7Vfrb

A. Dumb-bell shaped

B. Rounded

C. Elliptical

D. Kidney shaped

Answer: A

o Watch Video Solution

11. Which of the following is not part of epidermal tissue system ?

A. Trichomes

B. Companion cells

C. Subsidiary cells

D. Guard cells

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jl9udgJ7Vfrb
https://dl.doubtnut.com/l/_zyhYCNrQisoT

12. Ground tissues includes

A. All tissues except epidermis and vascular bundles

B. Epidermis and cortex
C. All tissues internal to epidermis

D. only vascular tissues

Answer: A

o Watch Video Solution

13. Stomatal apparatus consists of

A. 1)Stomatal pore

B. 2)Guard cells

C. 3)Subsidiary cells


https://dl.doubtnut.com/l/_zyhYCNrQisoT
https://dl.doubtnut.com/l/_ruF0iX4mBrmD
https://dl.doubtnut.com/l/_uBZLKlqpQeYz

D. 4)All of these

Answer: D

° Watch Video Solution

14.In leaves, the ground tissue comprises of

A. Mesophyll,vascular bundles only

B. Only vascular bundles

C. Only mesophyll

D. Xylem fibres, phloem fibres & Sclereids only

Answer: C

o Watch Video Solution

15. The vascular tissue system is mainly made up of


https://dl.doubtnut.com/l/_uBZLKlqpQeYz
https://dl.doubtnut.com/l/_lP9DrzOonzoX
https://dl.doubtnut.com/l/_oaCI5xK7gxcC

A. Meristematic tissue

B. Simple tissue

C. Complex tissues

D.Both 1and 3

Answer: C

o Watch Video Solution

16. Bicollateral vascular bundles are found in the stems of

A. Cucurbita

B. Helianthus

C.Solanum

D.1and 3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_oaCI5xK7gxcC
https://dl.doubtnut.com/l/_DnbIKJq9SQEv

17. Radial vascular bundles are found in :

A. Dicot root

B. Monocot stem

C. Dicot stem

D. Isobilateral leaf

Answer: A

o Watch Video Solution

18. The ratio of phloem strips, xylem strips and cambial strips found in

bicollateral vascular bundle of Solanum

Al:1:1

B.2:2:2

C.2:2:1


https://dl.doubtnut.com/l/_DnbIKJq9SQEv
https://dl.doubtnut.com/l/_ILfSRqIPu1my
https://dl.doubtnut.com/l/_yP0hXXXEJRbj

D.2:1:2

Answer: D

° Watch Video Solution

19. Dermal tissues, ground tissues and vascular tissues are formed from

A. Intercalary meristems

B. Apical meristems

C. Fascicular vascular cambium

D. Inter fascicular cambium

Answer: B

o Watch Video Solution

20. Dumbell shaped guard cells are found in


https://dl.doubtnut.com/l/_yP0hXXXEJRbj
https://dl.doubtnut.com/l/_fDKW1xql4A4Y
https://dl.doubtnut.com/l/_BZklFgVpInOs

A. Datura

B. Solanum

C. Grasses

D. Hibiscus

Answer: C

o Watch Video Solution

21. The following is not a part of ground tissue system in stem

A. Medulla
B. Medullary rays
C. Pericycle

D. Mesophyll

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BZklFgVpInOs
https://dl.doubtnut.com/l/_gcfwaK88K3SK

22. When patches of phloem occur on both sides of xylem, then vascular

bundle is called as

A. Radial

B. Collateral

C. Bicollateral

D. Concentric

Answer: C

o Watch Video Solution

23.Endodermis is a part of

A. Extra-stelar tissue system

B. Vascular Tissue system

C. Epidermal Tissue System


https://dl.doubtnut.com/l/_gcfwaK88K3SK
https://dl.doubtnut.com/l/_pd0TuiKQlQql
https://dl.doubtnut.com/l/_2YXRcuogAyWF

D. Ground Tissue system

Answer: D

° Watch Video Solution

24. Ground tissue system is made up of

A. Parenchyma only

B. Collenchyma only

C. Sclerenchyma only

D. All types of simple tissues

Answer: D

o Watch Video Solution

25.1n radial vascular bundles the xylem and phloem lie


https://dl.doubtnut.com/l/_2YXRcuogAyWF
https://dl.doubtnut.com/l/_7Blinxuc9ZVM
https://dl.doubtnut.com/l/_yuQrjSA7l48v

A. Xylem and phloem are on same radius

B. Xylem and phloem are on alternating with each other

C.Xylem and phloem are separated by meristem (cambium) barate

radii

D. Xylem and phloem are one around the other

Answer: B

o Watch Video Solution

26. Unrelated character regarding Trichomes in the shoot system is

A. Multicellular structures

B. Prevent in water loss

C. Absorbption of water

D. Branched or unbranched structures

Answer: C


https://dl.doubtnut.com/l/_yuQrjSA7l48v
https://dl.doubtnut.com/l/_kBuITeeHmCMN

° Watch Video Solution

27.Bicollateral vascular bundles are found in

A. Cucurbita

B. Dracaeana

C. Helianthus

D. Zea mays

Answer: A

o Watch Video Solution

28. Stomatal apparatus consists of

A. Guard cells only

B. Subsidiary cells only

C. Stomatal pore only


https://dl.doubtnut.com/l/_kBuITeeHmCMN
https://dl.doubtnut.com/l/_QOIacCxQrt81
https://dl.doubtnut.com/l/_LxshcNUQfOX2

D. All the above

Answer: D

° Watch Video Solution

29.The ground tissue of dicot leaf is

A. Medulla

B. Medullary rays

C. Pericycle

D. Mesophyll

Answer: D

o Watch Video Solution

30. The criterion for the classification of tissue systems into three types is


https://dl.doubtnut.com/l/_LxshcNUQfOX2
https://dl.doubtnut.com/l/_LhlIaTKq1W7m
https://dl.doubtnut.com/l/_QyW9Zix2oK2w

A. Based on their structure only
B. Based on their function
C.Based on their location in the plant body only

D.Both 1and 3

Answer: B

o Watch Video Solution

31. Ground tissue system mainly consists of

A. Epidermis, epidermal hairs, stomata, epiblema and root hairs
B. Hypodermis, cortex, endodermis, pericycle and pith
C. Xylem and phloem

D. Meristems

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QyW9Zix2oK2w
https://dl.doubtnut.com/l/_h6nKtm5sDONB

32.Epidermal tissue system does not include

A. Trichomes and hairs

B. Guard cells and subsidiary cells

C. Cuticle layer and cutinised walls

D. Collenchyma and sclerenchyma

Answer: D

o Watch Video Solution

33. Closed vascular bundles lack

A. Cambium

B. Xylem

C. Pholem


https://dl.doubtnut.com/l/_h6nKtm5sDONB
https://dl.doubtnut.com/l/_9PKNUfB4WJRD
https://dl.doubtnut.com/l/_JAX6qKqihAte

D. Parenchyma

Answer: A

° Watch Video Solution

34. Guard cell help in:

A. Fighting against infection

B. Protection against grazing

C. Transpiration

D. Guttation

Answer: C

o Watch Video Solution

35. Find the mismatch of the following


https://dl.doubtnut.com/l/_JAX6qKqihAte
https://dl.doubtnut.com/l/_zXwAII2MrPyX
https://dl.doubtnut.com/l/_CijhIiarGnP8

A. Epidermis - Cells are elongated and compactly arranged

B. Cuticle -Protection

C. Guard cell - Bean shaped in Grasses

D. Guard cells - Specialized

Answer: C

o Watch Video Solution

36. Epidermal hairs present on the stem are called as

A. Ramenta

B. Trichomes

C.Indusium

D. Scale leaves

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CijhIiarGnP8
https://dl.doubtnut.com/l/_mqH2TFWsBLcZ

37. In land plants, the guard cells differ from other epidermal cell in

having

A. Chloroplasts

B. Mitochondria

C. Nucleus

D. Lysosomes

Answer: A

o Watch Video Solution

38. Ground tissue is present

A. in the vascular bundles of dicot stem

B. in the vascular bundles of monocot stem

C. in between xylem and phloem of radial vascular bundles


https://dl.doubtnut.com/l/_mqH2TFWsBLcZ
https://dl.doubtnut.com/l/_pMf3wnl8B7F6
https://dl.doubtnut.com/l/_HsoW0OSwuZIe

D. in leaf bundles

Answer: C

° Watch Video Solution

39. Trichomes are

A. epidermal structures of root

B. appendages of pericycle of stem

C. epidermal outgrowths of dicot stem

D. hypodermal structures of dicot stem

Answer: C

o Watch Video Solution

40. Ground tissue system mainly consists of


https://dl.doubtnut.com/l/_HsoW0OSwuZIe
https://dl.doubtnut.com/l/_F5tQY5fkWX38
https://dl.doubtnut.com/l/_6KOnnIOBzH73

A. Meristem

B. Collenchyma

C. Sclerenchyma

D. Parenchyma

Answer: D

o Watch Video Solution

41. All types of tissue systems have

A. Collenchyma
B. Sclerenchyma
C. Meristems

D. Parenchyma

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6KOnnIOBzH73
https://dl.doubtnut.com/l/_0hDm2juRXjoC

Exercise | Anatomy Of Dicotyledonous And Monocotyledonous Plants

1. Casparian strip is a characteristic feature of

A. Pericycle
B. Endodermis
C. Xylem tracheids

D. Sieve tubes

Answer: B

o Watch Video Solution

2.Bulliform cells are found in the leaves of

A. Vallisneria

B. Maize


https://dl.doubtnut.com/l/_0hDm2juRXjoC
https://dl.doubtnut.com/l/_EnedRWMJIPx8
https://dl.doubtnut.com/l/_PsCdbrllRL4V

C. Nerium

D. Opuntia

Answer: B

o Watch Video Solution

3. Casparian strips of endodermis has deposition of

A. Waxy materials

B. Lignin or pectin

C. Suberin

D. Chitin

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_PsCdbrllRL4V
https://dl.doubtnut.com/l/_UjJvqihj8VhL

4. Passage cells are found in

A. Pericycle

B. Xylem element

C. Phloem element

D. Endodermis

Answer: D

o Watch Video Solution

5. Stele includes

A. Xylem and phloem

B. Xylem, phloem, pericycle, pith

C. Xylem, phloem, pith only

D. Xylem, phloem, endodermis


https://dl.doubtnut.com/l/_Nz6eVfherZQ9
https://dl.doubtnut.com/l/_NVb8ZGpUV7CI

Answer: B

° Watch Video Solution

6. Exarch xylem is found in

A. Dicot and monocot root

B. Monocot stem only

C. Dicot stem only

D. Petioles

Answer: A

° Watch Video Solution

7. The stomata in an isobilateral leaf

A. Present only on the adaxial epidermis


https://dl.doubtnut.com/l/_NVb8ZGpUV7CI
https://dl.doubtnut.com/l/_LwGA13ZXqOFe
https://dl.doubtnut.com/l/_n8z2hGkDViBQ

B. Present only on the abaxial epidermis

C. Absent on both the surfaces of epidermis

D. Present on both the surfaces of the epidermis

Answer: D

° Watch Video Solution

8.1n a monocot root xylem condition is

A. Monarch

B. Triarch

C. Tetrarch

D. Polyarch

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_n8z2hGkDViBQ
https://dl.doubtnut.com/l/_ul70EbxzCB7b
https://dl.doubtnut.com/l/_0oo2GrNoT9LE

9. Outer most layer of stele in the root is

A. Endodermis

B. Pericycle

C. Xylem bundles

D. Conjuctive tissue

Answer: B

o Watch Video Solution

10.In roots conjunctive tissue lies in between

A. Epidermis and Endodermis

B. Endodermis and Pericycle

C. Xylem and Phloem

D. Protoxylem and Metaxylem


https://dl.doubtnut.com/l/_0oo2GrNoT9LE
https://dl.doubtnut.com/l/_8Gu2WLror8e3

Answer: C

° Watch Video Solution

11. Pericycle is present in the form of semilunar patch of sclerenchyma in

A. Monocot root of Sorghum

B. Dicot root of Cicer

C. Dicot stem of Helianthus

D. Monocot Stem of Zea

Answer: C

° Watch Video Solution

12. Lysigenous cavities present in vascular bundles of

A. Monocot stem


https://dl.doubtnut.com/l/_8Gu2WLror8e3
https://dl.doubtnut.com/l/_6zFFlcvAKORa
https://dl.doubtnut.com/l/_k1x4Z9gDy6h1

B. Dicot root

C. Dicot

D. Dicot leaf

Answer: A

° Watch Video Solution

13. Bulliform cells are found in

A. The epidermis of monocot stem
B. The adaxial epidermis of grass leaf
C. Abaxial epidermis of dicot leaf

D. The adaxial epidermis of dorsiventral leaf

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_k1x4Z9gDy6h1
https://dl.doubtnut.com/l/_6reJ79nz1TUc
https://dl.doubtnut.com/l/_Wdj2IgxSahor

14. Character not related to anatomy of dicot leaf

A.Stomatal frequency is more in lower epidermis than upper
epidermis

B. Heterogenous mesophyll

C. Phloem towards abaxial epidermis

D. Vascular bundle provided with scleren- chymotous bundle sheath

Answer: D

° Watch Video Solution

15. Presence of collenchymatous hypodermis is one of the important
character of

A. Monocot root

B. Monocot leaf

C. Dicot stem


https://dl.doubtnut.com/l/_Wdj2IgxSahor
https://dl.doubtnut.com/l/_sHLJWCXibqJQ

D. Monocot stem

Answer: C

° Watch Video Solution

16. Structures involved in radial conduction in primary dicot stem are

A. Vascular bundles

B. Vascular rays

C. Medullary rays

D. Conjunctive tissue

Answer: C

o Watch Video Solution

17. Peripheral protoxylem and central metaxylem is


https://dl.doubtnut.com/l/_sHLJWCXibqJQ
https://dl.doubtnut.com/l/_WyjcQKb6L0oh
https://dl.doubtnut.com/l/_qoYBRRw7u8Q2

A. Endarch and found in stems

B. Exarch and found in stems

C. Endarch and found in roots

D. Exarch and found in roots

Answer: D

o Watch Video Solution

18. A waxy layer present outside the epidermal cells is absent in

A. Roots

B. Monocot leaves

C. Dicot Leaves

D. Dicot stems

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qoYBRRw7u8Q2
https://dl.doubtnut.com/l/_4L3ocOcLWxXN

19. The following tissue is mostly present below epidermis in aerial parts

of dicots

A. 1)Parenchyma

B. 2)Xylem

C. 3)Collenchyma

D. 4)Sclerenchyma

Answer: C

° Watch Video Solution

20. Which of the following constitute endodermis and pericycle

respectively, in a monocot root?

A. Innermost layer of cortex and outermost layer of cortex

B. Innermost layer of stele and outermost layer of stele


https://dl.doubtnut.com/l/_4L3ocOcLWxXN
https://dl.doubtnut.com/l/_i3whBV8jk6hI
https://dl.doubtnut.com/l/_xNUtfPPFi1bJ

C. Innermost layer of stele and outermost layer of cortex

D. Innermost layer of cortex and outermost layer of stele

Answer: D

° Watch Video Solution

21. The part of a root with intercellular spaces is

A. Cortex
B. Epidermis
C. Endodermis

D. Pericycle

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xNUtfPPFi1bJ
https://dl.doubtnut.com/l/_j3feq2ajJwo4

22. Monocot root differs from dicot root in having

A. More than six xylem bundles

B. Pericycle

C. Endodermis

D. Showing secondary growth

Answer: A

o Watch Video Solution

23. The vascular bundles in monocot stem in general

A. 1)larger at periphery and smaller at the center

B. 2)smaller at periphery and larger at the center

C.3)large and smaller together at periphery

D. 4)large and smaller together at the center


https://dl.doubtnut.com/l/_jpaEnCFq9pKq
https://dl.doubtnut.com/l/_tkFK4Wif94qC

Answer: B

° Watch Video Solution

24.Ring like arrangement of large number of vascular bundles is seen in

A. Dicot root

B. Monocot stem

C. Dicot stem

D. Monocot root

Answer: C

° Watch Video Solution

25. Protoxylem lacuna are present in the vascular bundles of

A. T)Monocot stem


https://dl.doubtnut.com/l/_tkFK4Wif94qC
https://dl.doubtnut.com/l/_QzTRDS2R2Dzo
https://dl.doubtnut.com/l/_tN90omn4CQ8D

B. 2)Monocot root

C. 3)Dicot stem

D. 4)Dicot root

Answer: A

° Watch Video Solution

26. Trichomes (or) root hairs are absent in the epidermis of

A. Dicot stem

B. Monocot stem

C. Dicot root

D. Monocot root

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tN90omn4CQ8D
https://dl.doubtnut.com/l/_rj1Pydvey7J1
https://dl.doubtnut.com/l/_vGK0zjuZyvbB

27.Semi lunar patches of sclerenchyma are seen

A. Above phloem in monocot stem

B. Below phloem in monocot stem

C. Above phloem in dicot stem

D. Below phloem in dicot stem surrounded by

Answer: C

o Watch Video Solution

28. Vascular sclerenchymatous bundle sheath in

A. Monocot stem bundles are

B. Dicot stem

C. Monocot root

D. Dicot root


https://dl.doubtnut.com/l/_vGK0zjuZyvbB
https://dl.doubtnut.com/l/_7QNFkU2CSZZX

Answer: A

o Watch Video Solution

29. Exarch arrangement of primary xylem means

A. Protoxylem lies towards periscycle and metaxylem lies towards

medulla

B. Protoxylem lies towards pith and metaxylem lies towards pericycle

C. Protoxylem lies on either side of metaxylem of the organ

D. Metaxylem lies on either side of protoxylem of the organ

Answer: A

o Watch Video Solution

30. Monocot root is not characterised by


https://dl.doubtnut.com/l/_7QNFkU2CSZZX
https://dl.doubtnut.com/l/_HeFXVamSEd2G
https://dl.doubtnut.com/l/_tF1c2rrHIDaN

A. Polyarch condition

B. Exarch xylem

C. Well developed medulla

D. Secondary growth

Answer: D

o Watch Video Solution

31. Pith is well developed in

A. Dicot stem and dicot root

B. Dicot stem and monocot root

C. Monocot root and monocot stem

D. Monocot stem and dicot root

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tF1c2rrHIDaN
https://dl.doubtnut.com/l/_bN65YW2Tdpc9

32. The transverse section of a plant material shows the following
anatomical features

1) The vascular tissues are arranged in an alternate manner on different
radii
2) The pith is small (or) inconspicuous What will you identify it as?

A. Sunflower root

B. Maize stem

C.Sugar cane leaf

D. Sorghum root

Answer: A

° Watch Video Solution

33. Which of the following is present in a monocot stem ?


https://dl.doubtnut.com/l/_bN65YW2Tdpc9
https://dl.doubtnut.com/l/_O1CJPnjj3WAd
https://dl.doubtnut.com/l/_skcfpK6yP32j

A. 1)Phloem parenchyma
B. 2)Medullary rays
C. 3)Pericycle

D. 4)Xylem parenchyma

Answer: D

o Watch Video Solution

34. The number of types of cells present in the adaxial epidermis of

grasses

A1l
B.2
C.3

D.4

Answer: D



https://dl.doubtnut.com/l/_skcfpK6yP32j
https://dl.doubtnut.com/l/_xYifwh0iSxZN

| ° Watch Video Solution

35. Generally number of types of cells present in lower epidermis of leaf

of grasses is

A3

B.4

C.2

D.1

Answer: A

° Watch Video Solution

36. The function of exodermis in the roots is

A. Prevents exit of water and helps in sec.growth.

B. Prevention of exit of water and protection


https://dl.doubtnut.com/l/_xYifwh0iSxZN
https://dl.doubtnut.com/l/_0QXCp7UGTH52
https://dl.doubtnut.com/l/_0jSBvoQPbUhE

C. Prevention of exit of water and allowing entry of water

D. Storage of water and ford materials

Answer: B

° Watch Video Solution

37. The function of pericycle in monocot root is

A. Initiation of lateral roots

B. Formation of vascular cambium

C. Formation of cork cambium

D.Both 1and 2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0jSBvoQPbUhE
https://dl.doubtnut.com/l/_HJnIcmzISKo5

38. The number of xylem bundle in monocot root is :

A. Two

B. Four

C. Six

D. More than six

Answer: D

o Watch Video Solution

39.In dicotyledonous roots, the lateral roots originate from

A. Endodermal cells

B. Cortical cells

C. Epidermal cells

D. Pericycle cells


https://dl.doubtnut.com/l/_vE2aB4bPMIlk
https://dl.doubtnut.com/l/_sWYLqB38tnFu

Answer: D

° Watch Video Solution

40. The common character in both dicot root and monocot root is the

presence of

A. Large Medulla

B. Polyarch xylem

C. Cambial development at later stages

D. Radial vascular bundles

Answer: D

° Watch Video Solution

41. Conjuctive tissue in roots is


https://dl.doubtnut.com/l/_sWYLqB38tnFu
https://dl.doubtnut.com/l/_wCblQWFY5jhc
https://dl.doubtnut.com/l/_oOYSHT3u2Wub

A. Cortical tissue

B. Present between xylem & phloem

C. Produces lateral roots

D. Made of sclerenchymatous cells

Answer: B

o Watch Video Solution

42. Cells with suberized walls and water impermeable are present in this

layer of root

A. Epidermis

B. Pericycle

C. Endodermis

D. Hypodermis

Answer: C



https://dl.doubtnut.com/l/_oOYSHT3u2Wub
https://dl.doubtnut.com/l/_j9F4ndiPfH7n

| ° Watch Video Solution

43. Cortex is bigger than stele in

A. Dicot stem and Monocot stem

B. Monocot root and Dicot root

C. Dicot stem and Monocot root

D. Monocot stem and Dicot root

Answer: B

° Watch Video Solution

44, Stele is bigger than cortex in the stem of

A. Dicot stem

B. Monocot root

C. Dicot root


https://dl.doubtnut.com/l/_j9F4ndiPfH7n
https://dl.doubtnut.com/l/_NjLvXIRYpcsE
https://dl.doubtnut.com/l/_B21hfNNNYggr

D.Both 2 &3

Answer: A

° Watch Video Solution

45. Select incorret pair

A. Stem of sunflower- Exarch xylem

B. Stem of maize -Endarch xylem

C. Root of gram -Exarch xylem

D. Root of jowar -Exarch xylem

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_B21hfNNNYggr
https://dl.doubtnut.com/l/_8T0kwD9MVSZK

46. Large medulla is immediately surrounded by many protoxylem groups

in the primary structure of

A. Dicot root

B. Monocot root

C. Monocot stem

D. Dicot stem

Answer: D

o Watch Video Solution

47. Hypodermis provides mechanical support in

A. 1)Dicot root

B. 2)Dicot stem

C.3)Monocot root

D. 4)All the above


https://dl.doubtnut.com/l/_cRi4A1BwzGeF
https://dl.doubtnut.com/l/_G4cx6DaJ7q3A

Answer: B

° Watch Video Solution

48. Select incorret pair

A. Stem of sunflower - Eustele

B. Stem of maize - Atactostele

C. Root of gram Exarch and Polyarch xylem

D. Root of sorghum Radial vascular bundle

Answer: C

° Watch Video Solution

49. Polyarch and exarch condition is found in
(a) monocot stem

(b) monocot root


https://dl.doubtnut.com/l/_G4cx6DaJ7q3A
https://dl.doubtnut.com/l/_OH20sdviPn4k
https://dl.doubtnut.com/l/_C3XVSUnO5HS5

(c) dicot stem

(d) dicot root

A. Dicot root

B. Dicot stem

C. Monocot root

D. Monocot stem

Answer: C

o Watch Video Solution

50. Leaves of angiosperms show these vascular bundles

A. Bicollateral

B. Conjoint and closed

C. Conjoint and open

D. Radial


https://dl.doubtnut.com/l/_C3XVSUnO5HS5
https://dl.doubtnut.com/l/_NcLqFBb97u65

Answer: B

° Watch Video Solution

51. A cross section of a plant material shows four xylem patches

alternating with same number of phloem patches and in the xylem

protoxylem is pointed towards periphery. In the centre of stele a small

pith is present. The plant material is

A. Young dicot stem

B. Young dicot root

C. Monocot stem

D. Monocot root

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_NcLqFBb97u65
https://dl.doubtnut.com/l/_6VEcSA6zNUyR

52. Stele includes

A. 1)Endodermis, pericycle, xylem, phloem, cambium, pith and pith rays
B. 2)Pericycle, xylem, phloem, cambium, pith and pith rays
C. 3)Xylem, phloem, cambium, pith and pith rays only

D. 4)Xylem, phloem and cambium only

Answer: B

o Watch Video Solution

53.Vascular bundles in a dicot leaf are

A. Collateral open with xylem towards lower epidermis and phloem

towards upper epidermis

B. Collateral closed with xylem towards upper epidermis and phloem

towards lower epidermis


https://dl.doubtnut.com/l/_yIz3JfI5xblr
https://dl.doubtnut.com/l/_0q9cdQQDta0w

C. Collateral closed with xylem towards lower epidermis and phloem

towards upper epidermis

D. Radial

Answer: B

° Watch Video Solution

54.Non cuticularised following

A. stem epidermis

B. branch epidermis is characteristic of

C. leaf epidermis

D. root epidermis

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_0q9cdQQDta0w
https://dl.doubtnut.com/l/_NRTW7W4f1HSR
https://dl.doubtnut.com/l/_4nEU1gJPiqIS

55. Two to six exarch radial vascular bundles and little pith are found in

A. Monocot stem

B. Monocot root

C. Dicot leaf

D. Monocot leaf

Answer: B

o Watch Video Solution

56. The innermost layer of in root cortex is characterised by

A. The radial walls are thickened by pecto cellulose band

B. The transverse walls are wrapped by suberised band

C. The radial walls are thickened by cutinised band

D. The transverse walls are thickened by chitinous band


https://dl.doubtnut.com/l/_4nEU1gJPiqIS
https://dl.doubtnut.com/l/_3Zqx5ciWzHFs

Answer: B

° Watch Video Solution

57. Pericycle is not at all concerned with

A. Production of lateral roots

B. Promoting secondary growth

C. Providing mechanical strength

D. Synthesis of carbohydrates

Answer: D

° Watch Video Solution

58. Dicot leaf shows differential colouration between the two surfaces

because of


https://dl.doubtnut.com/l/_3Zqx5ciWzHFs
https://dl.doubtnut.com/l/_DsKdjD3ViF6c
https://dl.doubtnut.com/l/_n0tM3nYbi752

A. Undifferentiated mesophyll

B. Presence of upper palisade and lower spongy parenchyma

C. Presence of upper spongy and lower palisade parenchyma

D. Presence of spongy parenchyma only

Answer: B

o Watch Video Solution

59. The type of arrangement of xylem and phloem on alternate radii is

described as

A. Radial

B. Diagonal

C. Pyramidal

D. Tangential

Answer: A



https://dl.doubtnut.com/l/_n0tM3nYbi752
https://dl.doubtnut.com/l/_6JXFYQRBfwSd

| ° Watch Video Solution

60. Medulla is not organized in

A. Dicot stem

B. Monocot root

C. Dicot root

D. Monocot stem

Answer: D

o Watch Video Solution

Exercise | Secondary Growth

1. Dedifferentiation occurs during the formation of

A. Cork cambium


https://dl.doubtnut.com/l/_6JXFYQRBfwSd
https://dl.doubtnut.com/l/_iAroGjQ5QsvH
https://dl.doubtnut.com/l/_EZiouhx5DiDB

B. Vascular cambium

C1&2

D. Sclerenchyma

Answer: C

° Watch Video Solution

2. Impermeability is best seen in

A. Cork cells

B. Sclerenchyma

C. Stone cells

D. Collocytes

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EZiouhx5DiDB
https://dl.doubtnut.com/l/_Ulc6aMSzwlEq
https://dl.doubtnut.com/l/_wSSfEk0TokQU

3. Dendrochonology is used for determining the age of

A. fossils

B. Rocks

C. Trees

D. Annuals

Answer: C

o Watch Video Solution

4, Periderm includes

A. Phellem, phellogen and phelloderm

B. Phellem and phellogen only

C. Phellogen and phelloderm only

D. Vascular and cork cambia only


https://dl.doubtnut.com/l/_wSSfEk0TokQU
https://dl.doubtnut.com/l/_TKVEXhDj0Iln

Answer: A

° Watch Video Solution

5.Vascular cambium in dicot roots is

A. Partly primary & partly secondary in origin

B. Completely secondary and formed from cortex

C. Completely primary and formed from pericycle

D. Formed partly from pericycle and partly from conjunctive tissue

Answer: D

o Watch Video Solution

6. Which type of vascular bundles participate in normal secondary growth

of stem


https://dl.doubtnut.com/l/_TKVEXhDj0Iln
https://dl.doubtnut.com/l/_YsifZfuzBsAi
https://dl.doubtnut.com/l/_v0kWP2YGrCIA

A. Radial vascular bundle

B. All types of Conjoint, Collateral vascular bundles

C. Conjoint, Collateral, Closed vascular bundle

D. Conjoint, Collateral, Open vascular bundle

Answer: D

o Watch Video Solution

7.Secondary growth is usually absent in

A. Dicot root and Dicot stem

B. Monocot root and Monocot stem

C. Dicot root and Monocot stem

D. Monocot root and Dicot stem

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_v0kWP2YGrCIA
https://dl.doubtnut.com/l/_eR9eWPlPyLw8

8. Annual ring is

A. Meristematic and produce secondary xylem and secondary phloem

centripetally and centrifugally

B.Dead and produce secondary xylem and secondary phloem

centripetally and centrifugally

C.Secondary xylem and secondary phloem produced by vascular

cambium

D. Secondary xylem produced by vascular cambium

Answer: D

o Watch Video Solution

9. During secondary growth of dicot root, origin of complete phellogen

and partial vascular cambium is from


https://dl.doubtnut.com/l/_eR9eWPlPyLw8
https://dl.doubtnut.com/l/_GwJeE8TsPR7F
https://dl.doubtnut.com/l/_EelgNsB6Yk8Y

A. Conjunctive tissue

B. Endodermis

C. Pericycle

D. Cortex

Answer: C

o Watch Video Solution

10. During secondary growth of dicot stem, the growth of the phloem

rays in relation to vascular cambium is

A. Centripetal

B. Centrifugal

C. Acropetal

D. Concentric

Answer: B



https://dl.doubtnut.com/l/_EelgNsB6Yk8Y
https://dl.doubtnut.com/l/_AhKhw8z9utpv

| ° Watch Video Solution

11. Entire vascular cambium is formed due to dedifferentiation during the

secondary growth in

A. Dicot stem

B. Monocot stem

C. Dicot root

D. Monocot root

Answer: C

° Watch Video Solution

12. The photosynthetic part of periderm that lies inner to phellogen is

A. Phellem

B. Wood


https://dl.doubtnut.com/l/_AhKhw8z9utpv
https://dl.doubtnut.com/l/_fXenS5tdx7O0
https://dl.doubtnut.com/l/_DZffXADcsFuE

C. Periderm

D. Phelloderm

Answer: D

° Watch Video Solution

13. A primary meristem that produces secondary tissues is

A. Inter fascicular cambium
B. Fascicular vascular cambium
C. Cork cambium

D. Apical meristems

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_DZffXADcsFuE
https://dl.doubtnut.com/l/_pN7mpZLSIZHB

14. Vascular cambium ring of dicot stem is formed by

A. Primary meristem only

B. Secondary meristem only

C. Both primary and secondary meristem

D. Xylem and phloem

Answer: C

o Watch Video Solution

15. Choose incorrect pair

A. Bark = Periderm + Bast

B. Periderm = Phellem + Phellogen + Phelloderm

C. Annual ring = Late wood + Early wood

D. Cortex = Pericycle + Vascular tissue + Pith


https://dl.doubtnut.com/l/_WDdSHTKFpqcS
https://dl.doubtnut.com/l/_SqPHKWQT6KTV

Answer: D

° Watch Video Solution

16. Which part is derived from both vascular cambial ring and cork

cambium during secondary growth in dicot stem?

A. Periderm

B. Bark

C. Cork

D. Bast

Answer: B

° Watch Video Solution

17. During secondary growth in dicot stem complimentary cells are

formed from


https://dl.doubtnut.com/l/_SqPHKWQT6KTV
https://dl.doubtnut.com/l/_ATq19WqDhznL
https://dl.doubtnut.com/l/_8raokCrZLuPh

A. Interfascicular cambium

B. Vascular cambium

C. Phellogen

D.2and 3

Answer: C

o Watch Video Solution

18. The parenchymatous cells found in lenticel are

A. Epithem

B. Phelloderm

C. Complementary cells

D. Cork tissue

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8raokCrZLuPh
https://dl.doubtnut.com/l/_sS1WwMhlpNwg

19. Which is the common part formed due to the activity of vascular

cambium and phellogen.

A. Cork

B. Bast

C. Phelloderm

D. Bark

Answer: D

o Watch Video Solution

20. In a woody dicot stem twenty spring woods and twenty autumn

woods are present. What is the approximate age of that tree

A. 10 Years

B. 40 Years


https://dl.doubtnut.com/l/_sS1WwMhlpNwg
https://dl.doubtnut.com/l/_mWK4AgFzoZxZ
https://dl.doubtnut.com/l/_Tqo7sIeUR5MI

C.5 Years

D. 20 Years

Answer: D

° Watch Video Solution

21. The study of estimation of age of the tree by counting the number of

annual rings is called

A. Dendrology

B. Dendrochronology

C. Silviculture

D. Phenology

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Tqo7sIeUR5MI
https://dl.doubtnut.com/l/_9C0MhG7eKknA
https://dl.doubtnut.com/l/_ohzCZhtefLTl

22. Function of xylem ray parenchyma is

A. Upward conduction

B. Radial conduction

C. Downward conduction

D.1and 3

Answer: B

o Watch Video Solution

23. Number of annual rings from base to apex of stem of dicot during

secondary growth

A. Increases

B. Decreases

C. Remain same

D.1and 2


https://dl.doubtnut.com/l/_ohzCZhtefLTl
https://dl.doubtnut.com/l/_jSd6dHZDnLah

Answer: B

° Watch Video Solution

24. Cork is impervious to water due to the presence of in its cell

wall.

A. Cellulose

B. Hemicellulose

C. Pectin

D. Suberin

Answer: D

° Watch Video Solution

25. Each annual ring (growth ring) consists of


https://dl.doubtnut.com/l/_jSd6dHZDnLah
https://dl.doubtnut.com/l/_47E5MKglOAsP
https://dl.doubtnut.com/l/_ZpXyidBvVNGi

A. Sapwood + Latewood

B. Heart wood + Early wood

C. Spring wood + Autumn wood

D. Heart wood + Sap wood

Answer: C

o Watch Video Solution

26. A tree grows at a rate of 0.5 m/yr . What will be the height of a board

fixed at 1.5 m above the base, five years ago

A . 4m

B.35m

C.1.5m

D.45m

Answer: C



https://dl.doubtnut.com/l/_ZpXyidBvVNGi
https://dl.doubtnut.com/l/_WsMiIQ6XIJdM

| o Watch Video Solution

27. A hundred year old tree of temperate area will show

A. 100 rings from base to top

B. Irregular number of rings which show increase or decrease along

the length

C. More than 100 rings at the base and less than 100 near the top

D. 100 rings at the base and progressive decrease towards the top

Answer: D

o Watch Video Solution

28. In some old trees, though the central part (heart wood) is lost, the

plant survives because

A. The bark conducts food and water


https://dl.doubtnut.com/l/_WsMiIQ6XIJdM
https://dl.doubtnut.com/l/_Ke74zvQEbbR8
https://dl.doubtnut.com/l/_6hmDupCbjAey

B. The sapwood conducts water and secondary phloem conducts food

C. The cork conducts water and sapwood conducts food

D.The water is conducted through sapwood and there is no

conduction of food

Answer: B

o Watch Video Solution

29. A hundred year old tree of temperate area will show

A.The same number of rings from base of trunk to the terminal

region of branches

B.An irregular number of rings which increase or decrease

sporadically along its length

C. About one hundred rings at the base with the number gradually

decreasing towards the apex


https://dl.doubtnut.com/l/_6hmDupCbjAey
https://dl.doubtnut.com/l/_Q0KBSSm9l6RY

D. About one hundred rings at the apex and the number gradually

decreasing towards the base

Answer: C

° Watch Video Solution

30. In a cut trunk of a tree the section was showing 26 concentric rings of
spring wood and autumn wood in alternative layers. The age of the tree is
estimated to be

A. 13 years

B. 26 years

C. 52 years

D. 104 years

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Q0KBSSm9l6RY
https://dl.doubtnut.com/l/_8lJWXqA17dG5

31. Highly durable and commercial valuable wood of the following is

A. Spring wood
B. Heart wood
C. Late wood

D. Sapwood

Answer: B

o Watch Video Solution

32. Heart wood is durable and resistant to microbial attacks due to the
deposition of

A. Tannins, resins and gums

B. Mineral crystals and oils

C. Starches, proteins and fats


https://dl.doubtnut.com/l/_8lJWXqA17dG5
https://dl.doubtnut.com/l/_g5XzsCIzPZDF
https://dl.doubtnut.com/l/_zNG8NTiOcR5s

D. Enzymes, hormones, acids

Answer: A

° Watch Video Solution

33. Select mismatch from the following

A. Cork - Phellem

B. Secondary cortex- Phelloid

C. Cork cambium - Phellegen

D. Cork + Cork cambium + Secondary cortex- Periderm

Answer: B

o Watch Video Solution

34. All of the following are component of bark except.


https://dl.doubtnut.com/l/_zNG8NTiOcR5s
https://dl.doubtnut.com/l/_0ozgIxj3iHaB
https://dl.doubtnut.com/l/_7gNwat0HVwPC

A. Cork

B. Periderm

C. Secondary xylem

D. Secondary phloem

Answer: C

o Watch Video Solution

35. The secondary cambium develops partly from pericycle and partly

form conjunctive tissue in

A. Monocot root

B. Monocot stem

C. Dicot stem

D. Dicot root

Answer: D



https://dl.doubtnut.com/l/_7gNwat0HVwPC
https://dl.doubtnut.com/l/_qdXyvWKEM0Tf

| o Watch Video Solution

36. Secondary growth commonly occurs in

A. Gymnosperms and Angiosperms

B. Dicot plans and Monocot plants

C. Gymnosperms and Dicot plants

D. Pteridophytes and Monocot plants

Answer: C

o Watch Video Solution

37. The main role of vascular rays is

A. Lateral conduction of ergastic materials

B. Upward conduction of water and salts

C. Downward conduction of food materials


https://dl.doubtnut.com/l/_qdXyvWKEM0Tf
https://dl.doubtnut.com/l/_pqzJCK035epS
https://dl.doubtnut.com/l/_8hg6FdziX6P2

D. Radial movement of water and food

Answer: D

° Watch Video Solution

38.The xylem vessels are relatively more in number in

A. Autumn wood

B. Late wood

C. Primary xylem

D. Spring wood

Answer: D

o Watch Video Solution

39. Vascular cabium produces


https://dl.doubtnut.com/l/_8hg6FdziX6P2
https://dl.doubtnut.com/l/_SBT15QLvpDrQ
https://dl.doubtnut.com/l/_vags6jzftwZj

A. Primary and secondary xylem

B. primary and secondary phloem

C. Primary xylem and phloem

D. Secondary xylem and phloem

Answer: D

o Watch Video Solution

40. Bark formed early in the season is called as

A. Soft bark

B. Hard bark

C. Alburnum

D. Duramen

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vags6jzftwZj
https://dl.doubtnut.com/l/_WA3RVSoOoiY2

41. Complementary cells are formed by the activity of

A. Vascular cambium
B. Phellogen
C. Apical meristem

D. Intercalary meristem

Answer: B

o Watch Video Solution

42. The youngest layer of secondary phloem in woody dicot stem is
located

A. Just outside to epidermis

B. Just outside to vascular cambium

C.Just inside to vascular cambium


https://dl.doubtnut.com/l/_WA3RVSoOoiY2
https://dl.doubtnut.com/l/_braVbxm8Jpq0
https://dl.doubtnut.com/l/_ET8zWbGZ81ba

D. Between periderm and primary cortex

Answer: B

o Watch Video Solution

43. Which of the following is not related to vascular cambium

A. It consists of ray and fusiform initials

B. Most of it's divisions are periclinal

C. Every year only one is formed in concentric

D. Shows seasonal variations in activity

Answer: C

o Watch Video Solution

44. Spring wood and Autumn wood are found in


https://dl.doubtnut.com/l/_ET8zWbGZ81ba
https://dl.doubtnut.com/l/_w6aF31bEUt1b
https://dl.doubtnut.com/l/_wSj34WxTgOxl

A. Sapwood

B. Phellogen

C. Heartwood

D.both 1& 3

Answer: D

o Watch Video Solution

45. Spring wood and Autumn wood are found in

A. Stem of monocot

B. Root of monocot

C. Leaf of dicot

D. Stem of dicot

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wSj34WxTgOxl
https://dl.doubtnut.com/l/_HlFThoQ7v0Rg

1. Histogen theory was proposed by

A. Schmidt
B. Nageli
C. Strasburger

D. Hanstein

Answer: D

° Watch Video Solution

2. Intercalary meristem results in
(a) secodnary growth

(b) primary growth


https://dl.doubtnut.com/l/_HlFThoQ7v0Rg
https://dl.doubtnut.com/l/_CAqnNiPSCL0D
https://dl.doubtnut.com/l/_aOjGyl1HsgdO

(c) apical growth

(d) lateral growth

A. Primary growth

B. Secondary growth

C. Apical growth

D. Cork formation

Answer: A

o Watch Video Solution

3. Mechanical tissue abundant in petioles and pedicels is

A. Collenchyma

B. Sclerenchyma

C. Sclereids

D. Parenchyma


https://dl.doubtnut.com/l/_aOjGyl1HsgdO
https://dl.doubtnut.com/l/_poUvNqAOfkKI

Answer: A

° Watch Video Solution

4.The tunica corpus theory was proposed by

A. Hanstein

B. Schmidt

C. Bower

D. Campbell

Answer: B

° Watch Video Solution

5.Bicollateral vascular bundles can be observed in

A. Aristolochia


https://dl.doubtnut.com/l/_poUvNqAOfkKI
https://dl.doubtnut.com/l/_E8aAAvM70k1c
https://dl.doubtnut.com/l/_9EfvTv0wX8Lu

B. Helianthus

C. Grass

D. Cucurbita

Answer: D

° Watch Video Solution

6. Dermatogen gives rise to

A. Cortex

B. Epidermis

C. Stele

D. Root cap

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9EfvTv0wX8Lu
https://dl.doubtnut.com/l/_gRUJTM5n9zTk
https://dl.doubtnut.com/l/_XolXptwsL5sW

7. A special meristem present at the root apex is known as

A. Dermatogen

B. Calyptrogen

C. Periblem

D. Plerome

Answer: B

o Watch Video Solution

8. Periblem is a part of

A. Cortex

B. Stele

C. Apical meristem

D. Vascular bundle


https://dl.doubtnut.com/l/_XolXptwsL5sW
https://dl.doubtnut.com/l/_pXN6J7OK9FlK

Answer: C

° Watch Video Solution

9."The ground tissue is undifferentiated in

A. Dicot stem

B. Dicot root

C. Monocot stem

D. Monocot root

Answer: C

° Watch Video Solution

10. According to the histogen theory, plerome gives rise to the
(a) Epidermis

(b) Cortex


https://dl.doubtnut.com/l/_pXN6J7OK9FlK
https://dl.doubtnut.com/l/_b6Yg1LCX1LmA
https://dl.doubtnut.com/l/_KPlK2PhUqnNp

(c) Pith

(d) Central stele

A. Cortex

B. Stele

C. Epidermis

D. Root cap

Answer: B

° Watch Video Solution

11. Apical cell theory was proposed by

A. Hanstein

B. Schmidt

C. Hofmeister

D. Nehemia Grew


https://dl.doubtnut.com/l/_KPlK2PhUqnNp
https://dl.doubtnut.com/l/_kUar0WtWCYMm

Answer: C

° Watch Video Solution

12. Calyptrogen gives rise to

A. Root cap

B. Metaxylem

C. Secondary xylem

D. All of these

Answer: A

° Watch Video Solution

13. Collenchymatous hypodermis is found in

A. 1) Roots


https://dl.doubtnut.com/l/_kUar0WtWCYMm
https://dl.doubtnut.com/l/_Gzp1fdcVzOr7
https://dl.doubtnut.com/l/_enEEqepgWRD8

B. Dicot stem

C. Monocot s tem

D. Monocot leaf

Answer: B

° Watch Video Solution

14. The term quiescent centre was called by

A. Nageli

B. Sachs

C. Malpighi

D. Clowes

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_enEEqepgWRD8
https://dl.doubtnut.com/l/_LHvmHlFuUJR7
https://dl.doubtnut.com/l/_CJFEAjiIlYBn

15. Transfusion tissue is present in the leaves of

A. Leaf let of Cycas

B. Stem of Pinus

C. Leaf of Maize

D. Leaf of Gram

Answer: A

° Watch Video Solution

16. Schizogenous cavity is seen in

A. Helianthus

B. Pinus

C. Cucurbita

D.Both 1and 2


https://dl.doubtnut.com/l/_CJFEAjiIlYBn
https://dl.doubtnut.com/l/_PUH3YZzkDp9O

Answer: D

° Watch Video Solution

17. Lysigenous cavity is seen in

A. Citrus

B. Eucalyptus

C. Cycas

D.Both 1and 2

Answer: D

° Watch Video Solution

18. Para rubber is obtained from the latex of

A. Euphorbia


https://dl.doubtnut.com/l/_PUH3YZzkDp9O
https://dl.doubtnut.com/l/_TnrLmRmtjUcj
https://dl.doubtnut.com/l/_W03CXgCUZwee

B. Nerium

C. Hevea

D. Papaver

Answer: C

° Watch Video Solution

19. Sclereids found in the seed coat of pulses are

A. Brachysclereids

B. Macrosclereids

C. Osteosclereids

D. Trichosclereids

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_W03CXgCUZwee
https://dl.doubtnut.com/l/_hB3klOX9882Z
https://dl.doubtnut.com/l/_dd9bKIw3uuDI

20. The function of the lenticel is

A. To protect the plant

B. To absorb water from atmosphere

C. To exchange gases

D. To exude gums

Answer: C

o Watch Video Solution

21.In dicotyledonous roots, the lateral roots originate from

A. Epidermis
B. Endodermis
C. Pericycle

D. Medulla


https://dl.doubtnut.com/l/_dd9bKIw3uuDI
https://dl.doubtnut.com/l/_d0vqdTktUgC1

Answer: C

° Watch Video Solution

22. Cork of commerce is derived from

A. Phellogen

B. Xylem

C. Phloem

D. Root

Answer: A

° Watch Video Solution

23. External protective tissues of plants are

A. Cork and pericycle.


https://dl.doubtnut.com/l/_d0vqdTktUgC1
https://dl.doubtnut.com/l/_IP0rC6K4EK63
https://dl.doubtnut.com/l/_EXzkRISVvFm9

B. Cortex and epidermis

C. Pericycle and cortex

D. Epidermis and cork

Answer: D

° Watch Video Solution

24.The type of meristem present in a vascular bundle is

A. Primary

B. Secondary

C. Intercalary

D. Lateral

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_EXzkRISVvFm9
https://dl.doubtnut.com/l/_8iDsduOVPY8Z
https://dl.doubtnut.com/l/_zUBym72EcPa7

25.Vascular bundles in which xylem and phloem surround one another is

called

A. Conjoint

B. Radial

C. Collateral

D. Concentric

Answer: D

o Watch Video Solution

26. Companion cells are usually associated with

A. Fibres

B. Trcheids

C. Vessels

D. Sieve tube


https://dl.doubtnut.com/l/_zUBym72EcPa7
https://dl.doubtnut.com/l/_mAVrCM8L7Fu1

Answer: D

° Watch Video Solution

27. Histogens can be observed in

A. Secondary meristem

B. Lateral meristem

C. Apical meristem

D. Intercalary meristem

Answer: C

° Watch Video Solution

28. Extrastelar ground tissue system includes

A. Epidermis & cortex


https://dl.doubtnut.com/l/_mAVrCM8L7Fu1
https://dl.doubtnut.com/l/_RkITeq3QMyuN
https://dl.doubtnut.com/l/_q8LILQSyqpyi

B. Cork & cortex

C. Bark cork & cortex

D. Only cortex

Answer: D

° Watch Video Solution

29. Centripetal development of xylem is present in

A. Dicot root

B. Dicot stem

C. Monocot stem

D. Branches of stem

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_q8LILQSyqpyi
https://dl.doubtnut.com/l/_p0s51bzvZ7LT
https://dl.doubtnut.com/l/_Nrt8xoI2kEZG

30. Protoxylem lacuna are present in the vascular bundles of

A. Monocot stem
B. Dicot stem
C. Monocot root

D. Dicot root

Answer: A

o Watch Video Solution

31. Well developed pith is found in

A. Monocot root and monocot stem

B. Monocot root and dicot root

C. Monocot root and dicot stem

D. Dicot root and dicot stem


https://dl.doubtnut.com/l/_Nrt8xoI2kEZG
https://dl.doubtnut.com/l/_UY6tyqQpiVpl

Answer: C

° Watch Video Solution

32. Amphicribral vascular bundle is present in the stem of

A. Selaginella

B. Ficus

C. Helianthus

D. Oryza

Answer: A

° Watch Video Solution

33. Mesophyll is not differentiated in the leaf of

A. Nerium


https://dl.doubtnut.com/l/_UY6tyqQpiVpl
https://dl.doubtnut.com/l/_j9KwiTr5kVZK
https://dl.doubtnut.com/l/_x0zZ8osPgECj

B. Cucurbita

C. Helianthus

D. Triticum

Answer: D

° Watch Video Solution

34. Well developed pith is found in

A. All roots

B. Dicot root

C. Monocot root

D. All stems

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_x0zZ8osPgECj
https://dl.doubtnut.com/l/_8ksBlELhnJki
https://dl.doubtnut.com/l/_fr1vLDQXrbzw

35.In dicot stem the vascular bundles are

A. Conjoint, collateral and open

B. Conjoint, collateral and closed

C. Concentric and closed

D. Concentric and open

Answer: A

o Watch Video Solution

36. Centrifugal development of xylem is

A. Monocot root

B. Dicot root

C. Stem

D. None of these


https://dl.doubtnut.com/l/_fr1vLDQXrbzw
https://dl.doubtnut.com/l/_A5mjcchtFJ9U

Answer: C

° Watch Video Solution

37. Mesarch xylem is present in

A. Ferns

B. Dicots

C. Monocots

D. Bryophyles

Answer: A

° Watch Video Solution

38. A superior quality commercial cork is obtained from

A. Eucalyptus


https://dl.doubtnut.com/l/_A5mjcchtFJ9U
https://dl.doubtnut.com/l/_Is1LkYqIrC0j
https://dl.doubtnut.com/l/_eBrqiBG4XXDR

B. Mangifera

C. Quercus (Oak)

D. Tamarindus

Answer: C

° Watch Video Solution

39. The bark of which one of the following plants is used as a condiment

in food stuffs?

A. Cinnamomum zeylanicum

B. Tamarindus indica

C. Psidium guajava

D. Azadirchta indica

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_eBrqiBG4XXDR
https://dl.doubtnut.com/l/_1RCzWLEVmsW8

40. Type of bark in Psidium is

A.Ring bark

B. Scaly bark

C. Bottle cork

D. Spicy bark

Answer: B

o Watch Video Solution

41. Bulliform cells in a grass leaf are useful for

A.Transpiration

B. Conduction

C.Rolling and unrolling of leaves

D. Growth of leaves


https://dl.doubtnut.com/l/_1RCzWLEVmsW8
https://dl.doubtnut.com/l/_nXx9KVEW69OR
https://dl.doubtnut.com/l/_alUGcMvA9haR

Answer: C

° Watch Video Solution

42. Amphivasal vascular bundles are found in

A. Cycas and Dryopteris

B. Dracaena and Yucca

C. Helianthus and Cucurbita

D. Maize and Wheat

Answer: B

° Watch Video Solution

43. Fibro vascular bundles are present in

A. Monocot stem


https://dl.doubtnut.com/l/_alUGcMvA9haR
https://dl.doubtnut.com/l/_E7nd6MyRse2A
https://dl.doubtnut.com/l/_R52bUu3MWosN

B. Dicot stem

C. Monocot root

D. Dicot root

Answer: A

° Watch Video Solution

44.1n which of the vascular bundles phloem is surrounded by xylem

A. Collateral

B. Amphivasal

C. Amphicribral

D. Radial

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_R52bUu3MWosN
https://dl.doubtnut.com/l/_WWcvSuMeh9Ns
https://dl.doubtnut.com/l/_Fq060Cr56iO5

45. In which of the vascular bundles xylem is surrounded by phloem

A. Collateral

B. Leptocentric

C. Hadrocentric

D. Radial

Answer: C

o Watch Video Solution

46. In dicot stem

A. The xylemis exarch

B. The xylem and phloem occur in separate bundles

C.Vascular bundles are arranged in a ring and have cambium

D. Vascular bundles are scattered and lack cambium


https://dl.doubtnut.com/l/_Fq060Cr56iO5
https://dl.doubtnut.com/l/_SxnXTFF6GfWw

Answer: C

° Watch Video Solution

47. Monocot root differs from dicot root in having

A. Open vascular bundles

B. Scattered vascular bundles

C. Well developed pith

D. Radially arranged vascular bundles

Answer: C

° Watch Video Solution

48. Age of a tree can be derived by

A. Measuring the height of the plant


https://dl.doubtnut.com/l/_SxnXTFF6GfWw
https://dl.doubtnut.com/l/_1zIyzmNizmhH
https://dl.doubtnut.com/l/_xPH2WQa1tWoS

B. Counting the number of leaves

C. Measuring the girth of the trunk

D. Counting the number of annual rings

Answer: D

° Watch Video Solution

49. Tyloses occur in

A. Secondary xylem

B. Secondary phloem

C. Callus tissue

D. Cork cells

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xPH2WQa1tWoS
https://dl.doubtnut.com/l/_pIBAdgyDTNfl
https://dl.doubtnut.com/l/_Qc1YsGKK5dT0

50. Chemical present in the walls of cork cell is

A. Lignin

B. Chitin

C. Cutin

D. Suberin

Answer: D

o Watch Video Solution

51. In which of the following the vasuclar cambium is completely

secondary meristem?

A. Dicot stem

B. Dicot root

C. Monocot stem

D. Monocot root


https://dl.doubtnut.com/l/_Qc1YsGKK5dT0
https://dl.doubtnut.com/l/_N8AXMgFvk0Ej

Answer: B

° Watch Video Solution

52. Fundamental tissue in plants is

A. Sclerenchyma

B. Collenchyma

C. Parenchyma

D. Xylem

Answer: C

° Watch Video Solution

53.Bone like sclereids are

A. Trichosclereids


https://dl.doubtnut.com/l/_N8AXMgFvk0Ej
https://dl.doubtnut.com/l/_2DELKDmQFfXa
https://dl.doubtnut.com/l/_P6MSFfl11pck

B. Astrosclereids

C. Osteosclereids

D. Macrosclereids

Answer: C

o Watch Video Solution

54.The term meristem was conined by
(a) C. negeli

(b) Mettenius

(c) Schuepp

(d) Schmidt

A. Nageli

B. Hanstein

C. Hofmeister

D. Schmidt


https://dl.doubtnut.com/l/_P6MSFfl11pck
https://dl.doubtnut.com/l/_OCbFRdpbkMsU

Answer: A

° Watch Video Solution

55. Atactostele is present in

A. Dicot stem

B. Monocot stem

C. Dicot root

D. Monocot root

Answer: B

° Watch Video Solution

56. Kranz anatomy is found in the leaves of

A. C5 plants


https://dl.doubtnut.com/l/_OCbFRdpbkMsU
https://dl.doubtnut.com/l/_E6YQtynyNxJu
https://dl.doubtnut.com/l/_2Bq5x0VROBbI

B. Cy4 plants

C. CAM plants

D. Cs plants

Answer: B

° Watch Video Solution

57. Reticulate and scalariform thickenings are found in one of the

following

A. Sieve tubes

B. Metaxylem vessels

C. Protoxylem vessels

D. Companion cells

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2Bq5x0VROBbI
https://dl.doubtnut.com/l/_rEp6S8iCyJCa

58. Silica crystals are present in the leaf epidermis of

A. Grass

B. Hibiscus

C. Tridax

D. Cucurbita

Answer: A

° Watch Video Solution

59. Bicollateral vascular bundles are found in

A. Cucurbitaceae

B. Solanaceae

C. Asteraceae

D.Both 1and 2


https://dl.doubtnut.com/l/_rEp6S8iCyJCa
https://dl.doubtnut.com/l/_LdDE3n3b4fsr
https://dl.doubtnut.com/l/_5jDx7D3OUtKx

Answer: D

° Watch Video Solution

60. Xylem vessels are few and are arranged in the form of Y in

A. Dicot stem

B. Monocot stem

C. Monocot root

D. Dicot root

Answer: B

° Watch Video Solution

61. Star shaped sclereids are called

A. Trichosclereids


https://dl.doubtnut.com/l/_5jDx7D3OUtKx
https://dl.doubtnut.com/l/_nBN4t7ajLiDO
https://dl.doubtnut.com/l/_xYV4AMK2umwJ

B. Astrosclereids

C. Macrosclereids

D. Osteosclereids

Answer: B

° Watch Video Solution

62. The layer of thin walled cells which separates the wood from phloem

in dicot plants is called

A. Endodermis

B. Pericycle

C. Vascular cambium

D. Cork cambium

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xYV4AMK2umwJ
https://dl.doubtnut.com/l/_W0XOg7OsmoRD

63. In bicollateral vascular bundle

A. Xylem is sandwitched by phloem

B. Phloem is sandwitched by xylem

C. Cambium is absent

D.The transverse splitting of one bundle into two bundles can be

identified

Answer: A

° Watch Video Solution

64. Which of the following statement is correct?

A.In a t.s. of a root protoxylem is towards the centre

B. In root metaxylem is towards the periphery

C.In root protoxylem is towards the periphery


https://dl.doubtnut.com/l/_W0XOg7OsmoRD
https://dl.doubtnut.com/l/_Vmxa7apbuK3q
https://dl.doubtnut.com/l/_4WxtAiO18gUE

D. Lateral roots arise from endodermis

Answer: C

° Watch Video Solution

65. Margo is a part of

A. Simple pit

B. Stomata

C. Bordered pit

D. Lenticel

Answer: C

o Watch Video Solution

66. The latest formed secondary xylem is located


https://dl.doubtnut.com/l/_4WxtAiO18gUE
https://dl.doubtnut.com/l/_KWNXxkn1I62q
https://dl.doubtnut.com/l/_YwwabucS14Em

A. Immediately external to vascular cambium

B. Immediately beneath the vascular cambium

C. Immediately internal to phellogen

D. Between secondary phloem and cork cambium

Answer: B

o Watch Video Solution

67. The sap wood occurs between

A. Cambium and Secondary phloem

B. Cambium and Heart wood

C. Heart wood and Pith

D. Phloem and Cortex

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YwwabucS14Em
https://dl.doubtnut.com/l/_wfsQ1qBKHHYq

68. Medullary rays are made up of

A. Parenchyma

B. Collenchyma

C. Sclerenchyma

D. Fibres

Answer: A

o Watch Video Solution

69. Which of the following is absent in the phloem of monocots

A. Sieve tubes

B. Parenchyma

C. Companion cells


https://dl.doubtnut.com/l/_wfsQ1qBKHHYq
https://dl.doubtnut.com/l/_alNNp1vuWxzr
https://dl.doubtnut.com/l/_W1PoJaG9r5rc

D. Fibres

Answer: B

° Watch Video Solution

70. Quiescent centre is present in

A. Root tip

B. Stem tip

C. Flower

D. Leaf

Answer: A

° Watch Video Solution

71. Quiescent zone is the zone of


https://dl.doubtnut.com/l/_W1PoJaG9r5rc
https://dl.doubtnut.com/l/_71JHttucZ3TU
https://dl.doubtnut.com/l/_zkkJGd9kpKw4

A. Less mitotic activity in the root apex

B. Less mitotic activity in the shoot apex

C. Maximum mitotic activity in the root apex

D. Maximum mitotic activity in the shoot apex

Answer: A

o Watch Video Solution

72. Angular collenchyma is found in

A. Solanum

B. Cucurbita

C. Lactuca

D.1and 2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zkkJGd9kpKw4
https://dl.doubtnut.com/l/_OKWr5bqCOByN

73.Sieve tubes are characteristed by

A. Lignified walls

B. Perforated and longitudinal plates

C. Perforated and oblique septa

D. Nucleus at maturity

Answer: C

° Watch Video Solution

74. The organizatin of shoot apex into tunica and corpus is determined
largely on the basis of

(a) Regions of meristematic activity

(b) Planes of cell division

(c) Rate of shoot tip growth

(d) Rate of cell division


https://dl.doubtnut.com/l/_OKWr5bqCOByN
https://dl.doubtnut.com/l/_kBOluLWEdBML
https://dl.doubtnut.com/l/_bSvcOGAfS5lq

A. Regions of meristematic activity

B. planes of cell division

C. Rate of shoot tip growth

D. Rate of cell division

Answer: B

o Watch Video Solution

75. A meristem in which cells divide in all planes is known as

A. Plate merisem

B. Rib meristem

C. Angle meristem

D. Mass meristem

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_bSvcOGAfS5lq
https://dl.doubtnut.com/l/_6X06tlf9mrsK

76. Annual rings are distinct in plants growing in

A. Arctic regions

B. Temperate regions

C. Tropical region

D. Grasslands

Answer: B

° Watch Video Solution

77.1f there is more than one tunica layer in a stem apex, which among the

following is most likely to happen?

A. The outer layer will develop into epidermal cells

B. The innermost layer will develop into epidermal cells

C. All the layers will develop into cortical cells


https://dl.doubtnut.com/l/_6X06tlf9mrsK
https://dl.doubtnut.com/l/_cXRHlRJNmFPJ
https://dl.doubtnut.com/l/_l60Q2yY7wdsC

D. All the layers will develop into epidermal cells

Answer: A

° Watch Video Solution

78. An example for plate meristem is

A. Protoderm

B. Periblem

C. Embryo

D. Endosperm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_l60Q2yY7wdsC
https://dl.doubtnut.com/l/_MrIwPdFWvbyH

79. The sieve pores of old sieve tubes are blocked by a carbohydrate

known as

A. Arabinose

B. Raffinose

C. Callose

D. Callus

Answer: C

o Watch Video Solution

80. Fusiform initials and ray initials are component of :

A. Secondary xylem and Secondary phloem

B. Vascular rays

C. Phloem parenchyma

D. Ray parenchyma


https://dl.doubtnut.com/l/_L4q2XtXT4Lzi
https://dl.doubtnut.com/l/_45BAFjOXEOFd

Answer: A

° Watch Video Solution

81. The vascular tissue in which annual rings vessels and fibers are

present should be a

A. Protoxylem

B. Metaxylem

C. Primary xylem

D. Secondary xylem

Answer: D

° Watch Video Solution

82. In autumn, the callose pad appear on


https://dl.doubtnut.com/l/_45BAFjOXEOFd
https://dl.doubtnut.com/l/_T5clJQfhLV3D
https://dl.doubtnut.com/l/_9hUnN6Jv1mCt

A. Tracheids

B. Vessels

C. Sieve tubes

D. Companion cells

Answer: C

o Watch Video Solution

8. Lenticel and its complementary cells are developed through the

activity of

A. Phellogen

B. Stelar cambium

C. Dermatogen

D. Intercalary meristem

Answer: A



https://dl.doubtnut.com/l/_9hUnN6Jv1mCt
https://dl.doubtnut.com/l/_5yHhffSZC4XU

| ° Watch Video Solution

84. Medullary rays are mainly

A. Dicot stem

B. Monocot stem

C. Roots

D.Both 2 and 3

Answer: D

° Watch Video Solution

85.When a tree grows older which of the following increases rapidly?

A. Heart wood

B. Sap wood

C. Pith


https://dl.doubtnut.com/l/_5yHhffSZC4XU
https://dl.doubtnut.com/l/_atHewiONPMtO
https://dl.doubtnut.com/l/_QTzaSjjyfzwC

D. Cortex

Answer: A

° Watch Video Solution

86. The most common type of collenchyma is

A. Angular collenchyma

B. Lamellar collenchyma

C. Lacunar collenchyma

D. All of these

Answer: A

o Watch Video Solution

87. Casparian bands are found in


https://dl.doubtnut.com/l/_QTzaSjjyfzwC
https://dl.doubtnut.com/l/_LBATvP9xYtCC
https://dl.doubtnut.com/l/_CWg6lAN5hkx4

A. Epidermis

B. General cortex

C. Endodermis

D. Pericycle

Answer: C

o Watch Video Solution

88. The term meristem, xylem and phloem were coined by

A. Hofmeister

B. Douliot

C. Nageli

D. Grew

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CWg6lAN5hkx4
https://dl.doubtnut.com/l/_SMpcZegIrcyD

89. Passage cells are found in

A. Exodennis

B. Epidermis

C. Pericyle

D. Endodermis

Answer: D

° Watch Video Solution

90. Bast fibres derived from

A. Secondary xylem

B. Cork cambium

C. Pericycle


https://dl.doubtnut.com/l/_SMpcZegIrcyD
https://dl.doubtnut.com/l/_9DmSqRiN6zJc
https://dl.doubtnut.com/l/_lPtdKRh0aaY8

D. Secondnary phloem

Answer: D

° Watch Video Solution

91. Most of the metabolism of a plant is carried out by

A. Parenchyma
B. Collenchyma
C. Sclerenchyma

D. Epidermis

Answer: A

o Watch Video Solution

92. Epithem consists of


https://dl.doubtnut.com/l/_lPtdKRh0aaY8
https://dl.doubtnut.com/l/_e1nTUn14AZvW
https://dl.doubtnut.com/l/_iBQQD3rR6LU8

A. Compactly arranged parenchyma cells

B. Loosely arranged parenchyma cells

C. Terminal tracheary elements

D. Air cavity

Answer: B

o Watch Video Solution

93. Vesselless angiosperms is/are

A. Drimys

B. Trochodendron

C. Tetracentron

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_iBQQD3rR6LU8
https://dl.doubtnut.com/l/_5JJ1ai0xJ3aP

94.The formation of distinct annual rings in stem mainly depends upon

A. Formation of cork cambia

B. Contrasting seasonal variations

C. Uniform climatic conditions

D. Formation of unequal phloem and xylem

Answer: B

° Watch Video Solution

95. Sheathing leaf bases of grasses is mainly due to activity of

A. Apical meristem

B. Lateral meristem

C. Intercalary


https://dl.doubtnut.com/l/_5JJ1ai0xJ3aP
https://dl.doubtnut.com/l/_bgYy6Mi3eNfR
https://dl.doubtnut.com/l/_wEWK1zwqyA12

D.1and 3

Answer: C

° Watch Video Solution

96. Cortex and pith are not distinguished in -

A. Monocot stem

B. Monocot root

C. Dicot stem

D. Dicot root

Answer: A

o Watch Video Solution

97. What is not true about sclereids ?


https://dl.doubtnut.com/l/_wEWK1zwqyA12
https://dl.doubtnut.com/l/_xbJ6EhyrGPp1
https://dl.doubtnut.com/l/_vSdvNFO3ZK5W

A. These are selerenchyma cells with thickened lignified walls

B. These are commonly found in the shells of nuts and in the pulp of

pear

C.These are elongated and flexible with tapered ends

D. These are called stone cells

Answer: C

o Watch Video Solution

98. Bulliform cells are

A. Sclerenchymatous cells

B. Parenchymatous cells

C. Large sized collenchyma cells

D. Water filled and highly vacuolated epidermal cells

Answer: D


https://dl.doubtnut.com/l/_vSdvNFO3ZK5W
https://dl.doubtnut.com/l/_GSD8L7N9Ea0L

° Watch Video Solution

99. Tyloses are

A. Compound sieve plates

B. Laticiferous channels

C. Tracheal plugs which block the lumen of vessels

D. Callose plugs

Answer: C

o Watch Video Solution

100. Water exudation through hydathodes is

A. Guttation

B. Transpiration

C. Excretion


https://dl.doubtnut.com/l/_GSD8L7N9Ea0L
https://dl.doubtnut.com/l/_L8J3AC5Cqs6P
https://dl.doubtnut.com/l/_mbToUAFdZMW8

D. Hydrolysis

Answer: A

° Watch Video Solution

101. Root cap regenerates or is produced from

A. Calyptrogen

B. Plerome

C. Periblem

D. Dermatogen

Answer: A

o Watch Video Solution

102. Three tissue systems were first clasified by


https://dl.doubtnut.com/l/_mbToUAFdZMW8
https://dl.doubtnut.com/l/_GtpXft9hZ9ia
https://dl.doubtnut.com/l/_rzvR3br9R3q8

A. Schmidt

B. Hanstein

C.Sachs

D. Nageli

Answer: C

o Watch Video Solution

103. Grafting is not possible in monocots because of

A. Lack of cambium

B. Presence of scattered vascular bundles

C. Parallel venation

D. Herbaceous nature

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rzvR3br9R3q8
https://dl.doubtnut.com/l/_c2lQS1JZeBiW

104. Collenchyma differs from sclerenchyma in

A. Retaining protoplast at maturity

B. Having thick walls

C. Having a wide lumen

D. Being meristematic

Answer: A

o Watch Video Solution

105. Which dead tissue contributes the most to mechanical strength of

plant?

A. Sclerenchyma

B. Cork

C. Sclereids


https://dl.doubtnut.com/l/_c2lQS1JZeBiW
https://dl.doubtnut.com/l/_RYHdbTYK0fne
https://dl.doubtnut.com/l/_QAAnccaR9H5k

D. Collenchyma

Answer: A

° Watch Video Solution

106. In which of the following phloem occurs in two patches within the

vascular bundle?

A. radial

B. Bicollateral

C. collateral

D. closed vascular bundle

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QAAnccaR9H5k
https://dl.doubtnut.com/l/_yoh4Nf9DPimy

107. Mesarch xylem is

A. Protoxylem is situated towards the periphery

B. Protoxylem is situated towards the centre

C. Protoxylem is surrounded by metaxylem

D. Metaxylem is surrounded by protoxylem

Answer: B

o Watch Video Solution

108. The oldest layer of secondary phloem is

A. Outside the cork cambium

B. Inside the vascular cambium

C. Inside the primary phloem

D. Immediately out side the vascular cambium


https://dl.doubtnut.com/l/_boKPlKzJazgb
https://dl.doubtnut.com/l/_0HrupLUcIpti

Answer: C

° Watch Video Solution

109. Sieve cells occur in

A. Angiosperms only

B. Gymnosperms only

C. Pteridophytes only

D. Pteridophytes and gymnosperms

Answer: D

° Watch Video Solution

110. A vascular bundle without cambium in between xylem and phloem is

called


https://dl.doubtnut.com/l/_0HrupLUcIpti
https://dl.doubtnut.com/l/_hqzuWzUkG7Sx
https://dl.doubtnut.com/l/_ZdWUr4iZIo2J

A. Radial

B. Closed

C. Open

D. Bicollateral

Answer: B

o Watch Video Solution

111. Interfascicular cambium develops from the cells of

A. Medullary rays

B. Xylem parenchyma

C. Endodermis

D. Pericycle

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ZdWUr4iZIo2J
https://dl.doubtnut.com/l/_V4Z0Red6nV5G

112. Lenticels are involved in

A. Transpiration

B. Gaseous exchange

C. Food transport

D. Photosynthesis

Answer: B

o Watch Video Solution

113. Age of a tree can be estimated by :

A. its height and girth

B. biomass

C. number of annual rings


https://dl.doubtnut.com/l/_V4Z0Red6nV5G
https://dl.doubtnut.com/l/_8QFExv3ubMFv
https://dl.doubtnut.com/l/_LPPYNbcLp8wO

D. diameter of its heartwood

Answer: C

° Watch Video Solution

114. Companion cells are closely associated with

A. Trichomes

B. Guard cells

C. Sieve tube elements

D. Vessel elements

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LPPYNbcLp8wO
https://dl.doubtnut.com/l/_ufVB8xkhJVZA

115. The annular and spirally thickened conducting elements generally

develop in the protoxylem when the root or stem is

A. Differentiating

B. Maturing

C. Elongating

D. Widening

Answer: B

o Watch Video Solution

116. In barley stem vascular bundles are

A. Closed and radial

B. Open and scattered

C. Closed and scattered

D.Open and in aring


https://dl.doubtnut.com/l/_LFGM3gW8JozN
https://dl.doubtnut.com/l/_b9vTKnUgpz26

Answer: C

° Watch Video Solution

117. Reduction in vascular tissue, mechanical tissue and -cuticle is

characteristic of

A. Hydrophytes

B. Xerophytes

C. Mesophytes

D. Epiphytes

Answer: A

° Watch Video Solution

118. Fundamental tissue system of primary stem and root consists of


https://dl.doubtnut.com/l/_b9vTKnUgpz26
https://dl.doubtnut.com/l/_Dwuj5V34QjDd
https://dl.doubtnut.com/l/_lJHnZSTgkwIA

A. Stele, Cortex

B. Cortex, Pith only

C. Cortex, Mesophyll, Pericycle, and Pith

D. Cortex, Pericycle, Pith, Medullary rays / conjuctive tissue

Answer: D

o Watch Video Solution

119. Structure and function of a tissue is mainly dependent on

A. Its cytoplasmic contents

B. Its location in the plant body

C. Its distribution in the plant kingdom

D. Its origin

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_lJHnZSTgkwIA
https://dl.doubtnut.com/l/_r1G8ctRBlFMe

120. Choose the incorrect one pair from the following .

A. Ground tissue may consists of simple tissues that lies in between

epidermis and vascular bundles.

B.In leaves the ground tissue consists of thin walled chloroplast

containing cells called mesophyll.

C.The vascular system consists of complex tissue the phloem and

xylem

D. Secondary growth/secondary tissues are formed in monocots due

to the presence of cambium

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_r1G8ctRBlFMe
https://dl.doubtnut.com/l/_FpguuX8JVCCM

121. Match the following

List - I List - II
1) Epidermis I) Bean shaped cells
2) Cuticle IT) Stomatal aperture, guard cells and subsidiary «
3) Stomatal apparatus IIT) Thick waxy layer
4) Guard cells IV) Outermost layer
A B C D
A1)
II 111 1V 1
A B C D
B.2)
v IIT II I
A B C D
C.3)
I II I1I1 IV
A B C D
D. 4)

Ir 1 1II1 1V

Answer: B

o Watch Video Solution

122. Find the mis-match

A. Conjoint vascular bundles -phloem on different radii

B. Closed Vascular Bundles-Cambium is absent


https://dl.doubtnut.com/l/_Vd8sE13INKgM
https://dl.doubtnut.com/l/_LAl0enO1zXLR

C.Xylem and Radial Vascular Bundles-Xylem and Phloem on different

radii

D. Dicotyledonous stem - Cambium is present

Answer: A

o Watch Video Solution

123.In a dicot root

A. 1)The vascular bundles are scattered and lack cambium

B. 2)The vascular bundles are usually arranged in a ring and have

cambium

C. 3)Xylem and Phloem show radial arrangement

D. 4)Xylem is always endarch

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LAl0enO1zXLR
https://dl.doubtnut.com/l/_qJDWS8qiGhI5

124. Trichomes of shoot system

A. Usually multicellular

B. May be branched or unbranched

C. May be soft or sticky

D. All are related

Answer: D

o Watch Video Solution

125. Casparian bands are found in

A. Endodermis

B. Epidermis

C. Pericycle


https://dl.doubtnut.com/l/_qJDWS8qiGhI5
https://dl.doubtnut.com/l/_Ev1YyTAhJmop
https://dl.doubtnut.com/l/_2rr1td2QcAf5

D. Phloem

Answer: A

° Watch Video Solution

126. Lateral roots originate from

A. Endodermis

B. Cortex

C. Pericycle

D. Phloem

Answer: C

o Watch Video Solution

127. After two years of secondary growth the cortex in a dicot root


https://dl.doubtnut.com/l/_2rr1td2QcAf5
https://dl.doubtnut.com/l/_Ai1ObCZX0X6H
https://dl.doubtnut.com/l/_8rP45lRDJdkB

A. Remains intact

B. Completely sloughed off

C.Is largely lost

D. is converted into cork

Answer: A

o Watch Video Solution

128. Which of the following meristem is responsible for growth in

circumference of stem or root

A. Xylem

B. Phloem

C. Cortex

D. Cambium

Answer: D



https://dl.doubtnut.com/l/_8rP45lRDJdkB
https://dl.doubtnut.com/l/_bHOSC762RbU9

| o Watch Video Solution

129. In leaves, the ground tissue comprises of

A. Mesophyll, Vascular bundles

B. Epiderm is and vascular bundles

C. Only mesophyll

D. Mesophyll, xylem parenchyma, phloem parenchyma

Answer: C

o Watch Video Solution

130. Secondary growth in Dicot root occurs with the help of

A. Lateral meristem, primary meristem, secondary meristem

B. Lateral meristem, only secondary meristem

C. Intercalary meristem, only primary meristem


https://dl.doubtnut.com/l/_bHOSC762RbU9
https://dl.doubtnut.com/l/_xGDccgLBtmj9
https://dl.doubtnut.com/l/_wFbGzjrSEGPX

D. Apical, lateral and intercalary meristems

Answer: B

o Watch Video Solution

131. In dicot root, during secondary growth, vascular cambium is formed

from

A. only pericycle

B. pericycle present in contact with protoxylem and conjuctive tissue

present below the phloem

C. complete ring of pericycle and conjunctive tissue present below the

xylem

D. complete ring of pricycle and total conjunctive tissue

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wFbGzjrSEGPX
https://dl.doubtnut.com/l/_AYyNLU1wUShQ

132. First formed vascular cambial ring of dicot root is

A. Circular, continuous
B. Circular, discontinuous
C. Wavy, non-functional

D. Wavy, continuous

Answer: D

o Watch Video Solution

133. Match the following

List - I List - II

A) Trichomes I) Cambium
B) Root hairs IT) Leaves

C) Mesophyll IIT) Unicellular

D) Dicotyledonous IV) Epidermal hairs stem

AAB C D
"IV IIT IT I


https://dl.doubtnut.com/l/_AYyNLU1wUShQ
https://dl.doubtnut.com/l/_VGK0mXrMhn0Z
https://dl.doubtnut.com/l/_tRWRDjYtLln0

BABC D
‘I II IIT IV

c A B C D
“IIT IV IT I
A B C D

D.
I 1v 1 II

Answer: A

o Watch Video Solution

134. Find out the correct reason for non-existence of sharp annual rings

in Secondary dicot root as found in secondary wood of dicot stem.

A. Lack of periclinal divisions in vascular cambium

B. Production of more secondary xylem to inside and less secondary

phloem outside

C. Relatively less difference in the climate of the soil during different

seasons.

D. Unexposure of root to proper wet conditions.


https://dl.doubtnut.com/l/_tRWRDjYtLln0
https://dl.doubtnut.com/l/_flKDfxpZaXPm

Answer: C

° Watch Video Solution

135. The nature of guard cells cell wall away from and towards the
stomatal pore is respectively

A. Thick, Thin

B. Thin, Thick

C. Thin, thin

D. Thick, thick

Answer: B

° Watch Video Solution

136. Anomalous secondary growth in monocots is seen in


https://dl.doubtnut.com/l/_flKDfxpZaXPm
https://dl.doubtnut.com/l/_NLvBsvPzwIgs
https://dl.doubtnut.com/l/_sIgnTBUueGAz

A. Dracaena

B. Aloe

C. Yucca

D. All of the above

Answer: D

o Watch Video Solution

137. One can differentiate the nature of guard cells between dicots and

grasses by

A. Its shape

B. Its secretion of chemicals

C. Its enzymatic activity

D. None of these

Answer: A



https://dl.doubtnut.com/l/_sIgnTBUueGAz
https://dl.doubtnut.com/l/_KzO7Qt4d9lpv

| ° Watch Video Solution

138. Cork formed during secondary growth in dicot root, protects the root

interior from

A. Pathogens

B. Temperature variations

C. Water

D. Both (1) and (2)

Answer: D

° Watch Video Solution

139. The functional aspect of trichome is

A. preventing water loss

B. secretory in nature


https://dl.doubtnut.com/l/_KzO7Qt4d9lpv
https://dl.doubtnut.com/l/_A6GQjNa1zT8E
https://dl.doubtnut.com/l/_95C1lZTyR6aG

C. Protection

D. All

Answer: D

° Watch Video Solution

140. Identify the set of structures reported in Epidermal tissue system

A. Epidermal cells, stomata, trichomes and hairs

B. Epidermal cells, stomata, vascular tissues

C. Stomata, Trichomes, Stelar tissues

D. Epidermal cells, stomata, trichomes, cortical cells

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_95C1lZTyR6aG
https://dl.doubtnut.com/l/_SvAykr8KbR3V

141. The following type of tissue is usually absent in roots

A. Parenchyma

B. Meristem

C. Collenchyma

D. Sclerenchyma

Answer: C

o Watch Video Solution

142. Tyloses are formed in

A. Cortex

B. Secondary xylem

C. Pericycle

D. Tracheary elements


https://dl.doubtnut.com/l/_hsq7on67e6AL
https://dl.doubtnut.com/l/_dJm6YV2pOjZk

Answer: D

o Watch Video Solution

143. During dedifferentiation
Parenchyma is converted into sclerenchyma
Parenchyma forms meristem
Derivatives of primary meristem form primary tissues
Sclerenchyma becomes totipotent

A. Parenchyma is converted into sclerenchyma

B. Parenchyma forms meristem

C. Derivatives of primary meristem form primary tissues

D. Sclerenchyma becomes totipotent

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dJm6YV2pOjZk
https://dl.doubtnut.com/l/_MbwKULpccY25
https://dl.doubtnut.com/l/_yFAcZ4osXUKW

144. Sclerenchyma is mechanical tissue because it has

A. Secondary wall

B. Thick lignified cell wall

C. Pits

D. has bordered pits

Answer: B

o Watch Video Solution

145. Multilayered sclerenchymatous pericycle is seen in

A. Dicot stem

B. Monocot stem

C. Dicot leaf

D. Dicot root


https://dl.doubtnut.com/l/_yFAcZ4osXUKW
https://dl.doubtnut.com/l/_925IDMaqFbAa

Answer: A

° Watch Video Solution

146. Protoderm gives rise

A. Endodermis

B. Epidermis

C. Periderm

D. Cortex

Answer: B

° Watch Video Solution

147. Quiscent center is a part of

A. Dermal tissue system


https://dl.doubtnut.com/l/_925IDMaqFbAa
https://dl.doubtnut.com/l/_xzfl9jRTW4SB
https://dl.doubtnut.com/l/_7X8OMxitEaoC

B. Ground tissue system

C. Lateral meristem

D. Apical meristem of root

Answer: D

° Watch Video Solution

148. This is an example for primary meristem involved in secondary

growth

A. Apical meristem

B. Cork cambium

C. Fascicular cambium of dicot stem

D. Intercalary meristem

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7X8OMxitEaoC
https://dl.doubtnut.com/l/_cxmBlzX11KBZ

149. During secondary growth in a dicot root, cork cambium is formed by

the activity of

A. cortex

B. pericycle

C. Endodermis

D. hypodermis

Answer: A

o Watch Video Solution

150. Tissue that holds more water in its cell wall is

A. Collenchyma

B. Sclerenchyma

C. Parenchyma


https://dl.doubtnut.com/l/_cxmBlzX11KBZ
https://dl.doubtnut.com/l/_P5x0VTRD1kTA
https://dl.doubtnut.com/l/_XNWAWm6KZWAq

D. Meristem

Answer: A

° Watch Video Solution

151. Essential oils are abundantly present in

A. Primary xylem

B. Early wood

C. Heart wood

D. Sap wood

Answer: C

o Watch Video Solution

152. The parts removed by herbivorous animals are regenerated by


https://dl.doubtnut.com/l/_XNWAWm6KZWAq
https://dl.doubtnut.com/l/_gkrcyeBxWb6d
https://dl.doubtnut.com/l/_IF7psBadm651

A. Apical meristems

B. Lateral meristems

C. Intercalary meristems

D. All

Answer: C

o Watch Video Solution

153.In dicot stem, the pericycle is

A. Multilayered

B. Single layered

C. Two layered

D. Absent

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IF7psBadm651
https://dl.doubtnut.com/l/_u9CwLxzzJb0D

154. Enucleated living cells are seen in the cells of

A. Xylem fibers

B. Tracheids

C. vessels

D. Sieve cells

Answer: D

o Watch Video Solution

155. Pulp of some fleshy fruits (apple) is rich in

A. Collenchyma

B. Xylem

C. Fibers


https://dl.doubtnut.com/l/_u9CwLxzzJb0D
https://dl.doubtnut.com/l/_rc2zOHiZK9IP
https://dl.doubtnut.com/l/_9fnI6paSdiHS

D. Sclereids

Answer: D

° Watch Video Solution

156. The shape of guard cells of Poaceae members is

A.Banana shape

B. Bean shape

C. Fusiform

D. Dumb-bell shape

Answer: D

o Watch Video Solution

157. Vascular cambium is absent


https://dl.doubtnut.com/l/_9fnI6paSdiHS
https://dl.doubtnut.com/l/_Mj6pRX6J7cnZ
https://dl.doubtnut.com/l/_zU7kKf3Ybw8Q

A. Dicot leaf

B. Monocot stem

C. Monocot root

D. All

Answer: D

o Watch Video Solution

158. Collenchyma is present in

A. Dermal tissue system

B. Stelar ground tissue system

C. Extra-stelar ground tissue system

D. Vascular tissue system

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zU7kKf3Ybw8Q
https://dl.doubtnut.com/l/_cKh54Vi4Qsea

159. Meristematic cells do not show

A. A large conspicuous nucleus

B. Ergastic substances like tannins, Resins etc.

C. Active metabolism

D. Proplastids

Answer: B

o Watch Video Solution

160. Interfascicular cambium and cork cambium are

A. Primary meristems

B. Secondary meristems

C. Apical meristems


https://dl.doubtnut.com/l/_cKh54Vi4Qsea
https://dl.doubtnut.com/l/_YCJYalcpiIx9
https://dl.doubtnut.com/l/_194IhI3VtcGf

D. Seasonal meristems

Answer: B

° Watch Video Solution

161. How many shoot apical meristems likely to be present in a twig of a

plant possessing 4 branches and 26 leaves

A. 26

B.1

C.5

D.30

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_194IhI3VtcGf
https://dl.doubtnut.com/l/_HjQbQWUXaEHm

162. Linear growth in the stem of grasses is caused by

A. Intercalary meristems

B. Apical meristems

C. Fascicular cambium

D.both 1and 2

Answer: A

o Watch Video Solution

163. Water storage parenchyma is found in

A. Hydrophytes

B. Mesophytes

C. Halophytes

D. Succulents


https://dl.doubtnut.com/l/_MqP424v4ivAZ
https://dl.doubtnut.com/l/_9NBjOqwMds1t

Answer: D

° Watch Video Solution

164. Continuous and discontinuous collenchymatic ring is found in dicots

like

A. Cucurbita and Helianthus

B. Helianthus and Cucurbita

C. Zea mays and Helianthus

D. Cucurbita and Zea mays

Answer: B

° Watch Video Solution

165. Collenchyma with irregular arrangement of cells with inter cellular

spaces


https://dl.doubtnut.com/l/_9NBjOqwMds1t
https://dl.doubtnut.com/l/_wt8sXwchxRFz
https://dl.doubtnut.com/l/_joWyLK9iW9HI

A. Lamellar collenchyma only

B. Angular collenchyma only

C. Lacunar collenchyma only

D. Both angular and lacunar collenchyma

Answer: C

o Watch Video Solution

166. Both tricho and filiform sclereids are found in

A. Leaves of Hakea

B. Leaves of Olea

C. Petioles of Nymphaea

D. Aerial roots of Monstera

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_joWyLK9iW9HI
https://dl.doubtnut.com/l/_mL7ul3zwJTGO

167. The main elements of conduction of water and mineral salts in

Pteridophytes pue Gymnosperms are

A. Tracheae

B. Sieve cell

C. Tracheids

D. Sieve tube

Answer: C

o Watch Video Solution

168. Primary xylem is developed from

A. Cambium

B. Interfascicular cambium

C. Procambium


https://dl.doubtnut.com/l/_mL7ul3zwJTGO
https://dl.doubtnut.com/l/_owbIoZAmHd1P
https://dl.doubtnut.com/l/_xaMx8uyJ2kC2

D. Cork cambium

Answer: B

° Watch Video Solution

169. Enucleated living cells found in the angiospermic plant body are

A. Companion cells

B. Mature sieve tube cell

C. Tracheae

D. Tracheids

Answer: B

o Watch Video Solution

170. Insectivorous plants generally contain


https://dl.doubtnut.com/l/_xaMx8uyJ2kC2
https://dl.doubtnut.com/l/_Sug5vTFcw8je
https://dl.doubtnut.com/l/_79923XmWQfJm

A. Nectary glands

B. Osmophores

C. Digestive glands

D. Hydathodes

Answer: C

o Watch Video Solution

171. A layer of cells that surrounds the schizogenous cavity is called

A. Endothecium

B. Epithelium

C. Epithem

D. Exothecium

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_79923XmWQfJm
https://dl.doubtnut.com/l/_Ws9FKF4xM9Iu

172. Scientific name of Indian rubber tree is

A. Calotropis

B. Catharanthus

C. Ficus elastica

D. Hevea brasiliensis

Answer: C

° Watch Video Solution

173. Identify the incorrect statement regarding tracheary elements of

xylem

A. Protoplasts are absent

B. Elongated, cells with lignified secondary walls

C. All groups of plants (vascular) contair both the tracheary elements


https://dl.doubtnut.com/l/_Ws9FKF4xM9Iu
https://dl.doubtnut.com/l/_NhTwOzbaTaaB
https://dl.doubtnut.com/l/_BPc5YSrUqj8O

D. Chiefly concerned with conduction of water

Answer: C

° Watch Video Solution

174. Tyloses are observed in the lumen of

A. Thylakoids

B. Sieve tubes

C. Sap wood

D. Heart wood

Answer: D

o Watch Video Solution

175. The hypodermal cells in the seed coat of legumes show


https://dl.doubtnut.com/l/_BPc5YSrUqj8O
https://dl.doubtnut.com/l/_IvzGjdw18NrL
https://dl.doubtnut.com/l/_6zBs9lY2x7Py

A. Very narrow lumen

B. Deposition of lignin in stratified layers in cell walls

C. Resemblance with parenchyma cell in having primary pit fields

D.1&2

Answer: B

o Watch Video Solution

176. A gymnosperm having vessels is

A. Selaginella

B. Equisetum

C. Gnetum

D. Drimys

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_6zBs9lY2x7Py
https://dl.doubtnut.com/l/_JCbyBPSyYpzL

177. Which has living cells

A. Xylem

B. Phloem

C.Both

D. none of these

Answer: C

° Watch Video Solution

178. Atactostele is found in

A. Dicot Stem

B. Monocot Stem

C. Monocot Root


https://dl.doubtnut.com/l/_JCbyBPSyYpzL
https://dl.doubtnut.com/l/_7DoeAzrmVEw6
https://dl.doubtnut.com/l/_WBPx7zjQrUeh

D. Dicot Root

Answer: A

o Watch Video Solution

179. Identify the incorrect statement regarding endodermis of roots

A. It is the innermost part of cortex

B. It prevents the entry of air from soil into stele

C.It is single layered, barrel shaped cells with casparian bands

D. It helps in leakage of water from stele into cortex

Answer: D

o Watch Video Solution

180. Endodermis with many passage cells are seen in cross section of


https://dl.doubtnut.com/l/_WBPx7zjQrUeh
https://dl.doubtnut.com/l/_jpLAMcbQgvXm
https://dl.doubtnut.com/l/_hm3MFDquW2my

A. Castanea root

B. Helianthus root

C. Ricinus root

D.Zea root

Answer: D

° Watch Video Solution

181. Albuminous cells occur in

A. Xylem

B. Parenchyma

C. Phloem

D. Sclerenchyma

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_hm3MFDquW2my
https://dl.doubtnut.com/l/_ZdYLu7d3gUhZ

182. The shape of arrangement of xylem vessels in monocot stem

A. Y-shaped

B. X-shaped

C. Long, tubular

D. S-shaped

Answer: A

o Watch Video Solution

183. Chlorophyllous cells fewer in number,unique is shape with inner walls

thicker are

A. Subsidiary cells

B. Guard cells

C. Passage cells


https://dl.doubtnut.com/l/_ZdYLu7d3gUhZ
https://dl.doubtnut.com/l/_KhNGXgsU39Oc
https://dl.doubtnut.com/l/_d4U09Jkbr95b

D. Bulliform cells

Answer: B

° Watch Video Solution

184. Anomalous secondary growth found in dicot root of

A. Raphanus

B. Dacus

C. Beta

D. All

Answer: D

° Watch Video Solution

185. Leaves are devoid of


https://dl.doubtnut.com/l/_d4U09Jkbr95b
https://dl.doubtnut.com/l/_TKlU0Xkivm3r
https://dl.doubtnut.com/l/_KAjilDZlQMwJ

A. Endodermis

B. Pericycle

C. Epdermis

D.1&2

Answer: D

o Watch Video Solution

186. Longest plant cell is

A. Flax fibers of Linum

B. Fiber of Gossypium

C. Acetabularia

D. Ramie fibers of Boehmeria

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KAjilDZlQMwJ
https://dl.doubtnut.com/l/_wo4v0LHCPwNa

187. Father of plant anatomy

A. Robert hooke

B. Robert brown

C.N.grew

D. Stephen hales

Answer: C

o Watch Video Solution

188. A nuclear stain haematoxylin is extracted form the

Haematoxylum

A. Sapwood

B. Bark

C. Periderm


https://dl.doubtnut.com/l/_wo4v0LHCPwNa
https://dl.doubtnut.com/l/_cHUMqLdvNkTq
https://dl.doubtnut.com/l/_KcXstJpCZirw

D. Heart wood

Answer: D

° Watch Video Solution

189. Vessels are found in

A. Most of the angiosperm and few gymnosperms

B. Most of the gymnosperms and few angiosperm

C. All pteridophyta

D. All gymnosperms

Answer: D

o Watch Video Solution

190. Quiescent centre possesses


https://dl.doubtnut.com/l/_KcXstJpCZirw
https://dl.doubtnut.com/l/_UzrVntjv97u6
https://dl.doubtnut.com/l/_QZkaYfByl82J

A. Activity dividing cells

B. Meristematic cells

C. Reserve cells

D. Storage cells

Answer: C

o Watch Video Solution

191. Choose the mismatch

A. Libriform fiber Simple pits in lignified walls

B. Companion cell-sister cell of albuminous cell

C.Sieve tube element -Unspecialized sieve areas on lateral walls

D. Tyloses- Obstruct the growth of pathogenic fungi

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QZkaYfByl82J
https://dl.doubtnut.com/l/_OJi7o3z9lp0Q

192. Ray initials are found in

A. Cork cambium

B. Vascular cambium

C. Lateral meristem on the whole

D. Ground tissue

Answer: B

o Watch Video Solution

193. Based on function meristems are classified by

A. Strasburger

B. Nageli

C. Schmidt


https://dl.doubtnut.com/l/_OJi7o3z9lp0Q
https://dl.doubtnut.com/l/_X0f44Fenpvf9
https://dl.doubtnut.com/l/_ep3LNIG2CwKd

D. Haberlandt

Answer: D

° Watch Video Solution

194. Xylem and phloem of primary plant body are formed from

A. Dermatogen

B. Protoderm

C. Promeristem

D. Procambium

Answer: D

o Watch Video Solution

195. Meristem which produces vascular bundles is


https://dl.doubtnut.com/l/_ep3LNIG2CwKd
https://dl.doubtnut.com/l/_HYsHMZRF5ljb
https://dl.doubtnut.com/l/_41Z6O5eqrsci

A. Procambium

B. Lateral meristem

C. Secondary meristem

D. Mass mieristem

Answer: A

o Watch Video Solution

196. Which tissue is commercially exploited to obtain hemp and jute

A. Stone cells

B. Sclerotic cells

C. Sclerenchyma fibres

D. wood parenchyma

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_41Z6O5eqrsci
https://dl.doubtnut.com/l/_XOjNMefEx5cL

197. Papain (a proteolytic enzyme) is found in the latex of

A. Carica

B. Ficus

C. Nerium

D. Euphorbia

Answer: A

o Watch Video Solution

198. Hydathode has

A. Subsidiary cells

B. Accessory cell

C. Complementary cells


https://dl.doubtnut.com/l/_XOjNMefEx5cL
https://dl.doubtnut.com/l/_RWKkc08UjSHb
https://dl.doubtnut.com/l/_khUB6XRPqyJZ

D. Epithem

Answer: D

° Watch Video Solution

199. Articulated latex vessels occur in

A. Euphorbia hirta

B. Nerium

C. Carica papaya

D. Vinca rosea

Answer: C

o Watch Video Solution

200. Latex is produced by the plants belonging to


https://dl.doubtnut.com/l/_khUB6XRPqyJZ
https://dl.doubtnut.com/l/_aI8gfushiOTP
https://dl.doubtnut.com/l/_3m1RenFSDFjG

A. Euphorbiaceae

B. Apocyanaceae and Caricaceae

C. Asclepiadaceae and Convolvulaceae

D. All of the above

Answer: D

o Watch Video Solution

201. Laticifers are usually associated with

A. Xylem

B. Phloem

C. Cortex

D. Medulla

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3m1RenFSDFjG
https://dl.doubtnut.com/l/_Xh17HnEsaHif

202. Heterotrophic and absorptive mode of nutrition is found in

A. Algae

B. Fungi

C. Bryophytes

D. None

Answer: A

o Watch Video Solution

203. Water glands are also called

A. Hydathodes

B. Pitchers

C. Bulliform cells


https://dl.doubtnut.com/l/_Xh17HnEsaHif
https://dl.doubtnut.com/l/_JJaS5Kp2peK3
https://dl.doubtnut.com/l/_8qvURQlYRQG9

D. Laticiferous glands

Answer: A

° Watch Video Solution

204. Multilayered epidermis occurs in leaves of

A. Ficus

B. Nerium

C. Peperomia

D. All

Answer: D

° Watch Video Solution

205. Stomata develops from


https://dl.doubtnut.com/l/_8qvURQlYRQG9
https://dl.doubtnut.com/l/_jzRUyqkwVwqV
https://dl.doubtnut.com/l/_SfmuP2D6DdsE

A. Dermal tissue

B. Ground tissue

C. Hypodermal tissue

D. Acessory tissue

Answer: A

o Watch Video Solution

206. Guard cells differ from epidermal cells in having

A. Specific shape

B. Chloroplast

C. More thickened inner wall

D. All of the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_SfmuP2D6DdsE
https://dl.doubtnut.com/l/_C0n0WfGMqWhT

207. Concentric vascular bundles are

A. Always closed

B. Occasionally closed

C. Maize stem bundles

D. Found in root

Answer: A

o Watch Video Solution

208. Stelar tissue originate from

A. Dematogen

B. Plerome

C. Periblem


https://dl.doubtnut.com/l/_C0n0WfGMqWhT
https://dl.doubtnut.com/l/_kqYjRTXQvsIf
https://dl.doubtnut.com/l/_bUHlhhBInB8l

D. Tunica layer

Answer: B

° Watch Video Solution

209. Structurally, the amphicribal vascular bundles closely resemble to

A. Protostele

B. Siphonostele

C. Solanostele

D. Dictyostele

Answer: A

o Watch Video Solution

210. Differentiation in phloem is


https://dl.doubtnut.com/l/_bUHlhhBInB8l
https://dl.doubtnut.com/l/_jP2x6jjgclJQ
https://dl.doubtnut.com/l/_qvtFWTXKG0Eu

A. Sometimes centripetal

B. Sometimes centrifugal

C. Always centripetal

D. Always centrifugal

Answer: D

o Watch Video Solution

211. Hydrostereom or transfusion tissue is found in

A. Gymnosperm leaves or leaflets

B. Dicot plants leaves

C. Monocot plants only

D. Angisoperms on the whole

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qvtFWTXKG0Eu
https://dl.doubtnut.com/l/_z68ssOdwZAhD

212. Amphicribal vascular bundles are also called

A. Leptocentric

B. Hadrocentric

C. Amphivasal

D. Bicollateral

Answer: B

o Watch Video Solution

213. Pith is hollow in

A. 1)Cucurbita stem

B. 2)Oryza stem

C.3)Wheat stem


https://dl.doubtnut.com/l/_z68ssOdwZAhD
https://dl.doubtnut.com/l/_zCcMTDnASBqP
https://dl.doubtnut.com/l/_Yc6FaVzLZKzt

D. 4)All of these

Answer: D

° Watch Video Solution

214. Cystoliths are chemically composed of

A. Calcium oxalate

B. Calcium carbonates

C. Calcium bicarbonates

D. Potassium bicarbonates

Answer: B

o Watch Video Solution

Exercise lii Previous Aipmt Neet Questions


https://dl.doubtnut.com/l/_Yc6FaVzLZKzt
https://dl.doubtnut.com/l/_UFn62E7j4Gx4
https://dl.doubtnut.com/l/_wVyexrjl8cRV

1. Cortex is the region found between

A. endodermis and pith

B. endodermis and vascular bundle

C. epidermis and stele

D. pericycle and endodermis

Answer: C

° Watch Video Solution

2.The ballone-shaped structures called tyloses

A. are extensions of xylem parenchyma cells into vessels

B. are linked to the ascent of sap through xylem vessels

C.originate in the lumen of vessels

D. characterize the sapwood


https://dl.doubtnut.com/l/_wVyexrjl8cRV
https://dl.doubtnut.com/l/_VukGE0tr5r4U

Answer: A

° Watch Video Solution

3. Specialised epidermal cells surrounding the guard cell are called

A. Complementary cells

B. Subsidiary cells

C. Bulliform cells

D. Lenticels

Answer: B

° Watch Video Solution

4. A major characteristic of the monocot root is the presence of :

A. vasculature without cambium


https://dl.doubtnut.com/l/_VukGE0tr5r4U
https://dl.doubtnut.com/l/_jiAVnP2XROU1
https://dl.doubtnut.com/l/_rgB69FCjodNb

B. cambium sandwiched between phloem and xylem along the radius

C. open vascular bundles

D. scattered vascular bundles

Answer: A

o Watch Video Solution

5. Vascular bundles in monocotyledons are considered closed because

A. there are no vessels with perforations

B. xylem is surrounded all around by phloem

C. a bundle sheath surrouds each bundle

D. cambium is absent

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_rgB69FCjodNb
https://dl.doubtnut.com/l/_0N7cSnhRVaR3
https://dl.doubtnut.com/l/_sRWrdzVZc3Oi

6. Read the different components from (A) to (D) in the list given below
and tell the correct order of the components with reference to their
arrangement from outer side to inner side in a woody dicot stem
(A) Secondary cortex, (B) Wood
(C)Secondary phloem, (D) Phellem

A.iv, i, iii, ii

B. iv, iii, i, ii

C. i, ii, v, iii

D. iii, iv, ii, |

Answer: A

o Watch Video Solution

7. Tracheids differ from other tracheary elements in :

A. having casparian strips


https://dl.doubtnut.com/l/_sRWrdzVZc3Oi
https://dl.doubtnut.com/l/_K2kt9CM023eY

B. being imperforate

C.lacking nucleus

D. being lignified

Answer: B

° Watch Video Solution

8. Lenticels are involved in

A.food tansport

B. photosynthesis

C. transpiration

D. gaseous exchange

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_K2kt9CM023eY
https://dl.doubtnut.com/l/_VF8uq9NcZuVh
https://dl.doubtnut.com/l/_7BOoLkcIY6Uj

9. Interfascicular cambium develops from the cells of

A. endodermis

B. pericycle

C. medullary rays

D. xylem parenchyma

Answer: C

o Watch Video Solution

10. Companion cells are closely associated with

A. sieve elements

B. vessel elements

C. trichomes

D. guard cells


https://dl.doubtnut.com/l/_7BOoLkcIY6Uj
https://dl.doubtnut.com/l/_2RcNdt9BT0Uw

Answer: A

° Watch Video Solution

11. Closed vascular bundles lack

A. ground tissue

B. conjuncitive tissue

C.cambium

D. pith

Answer: C

° Watch Video Solution

12. Water contaning cavities in vascular bundles are found in

A. Sunflower


https://dl.doubtnut.com/l/_2RcNdt9BT0Uw
https://dl.doubtnut.com/l/_RauvSVva7PpU
https://dl.doubtnut.com/l/_ULHBohfAylhu

B. Maize

C. Cycas

D. Pinus

Answer: B

° Watch Video Solution

13. As compared to a dicot, root, a monocot root has

A. more abundant secondary xylem

B. many xylem bundles

C.inconspicuous annual rings

D. relatively thicker periderm

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ULHBohfAylhu
https://dl.doubtnut.com/l/_5byZYweiEHpz
https://dl.doubtnut.com/l/_qbwKL7xSMiDu

14. Ground tissues includes

A. all tissues external to endodermis

B. all tissues except epidermis and vascular bundles

C. epidermis and cortex

D. all tissues internal to endodermis

Answer: B

o Watch Video Solution

15. The cork cambium , cork and secondary cortex are collectively called

A. phelloderm
B. phellogen
C. periderm

D. phellem


https://dl.doubtnut.com/l/_qbwKL7xSMiDu
https://dl.doubtnut.com/l/_CUrdX2MF8vHA

Answer: C

° Watch Video Solution

16. Function of companion cells is

A. provide energy to sieve elements for active transport
B. provide water to phloem
C.load sucrose into sieve elements by passive transport

D. load sucrose into sieve elements by acive transport.

Answer: D

o Watch Video Solution

17. Some vascular bundles are dsecribed as open because theses

A. are surrounded by pericycle but no endodermis


https://dl.doubtnut.com/l/_CUrdX2MF8vHA
https://dl.doubtnut.com/l/_hOYk2n8kp5CO
https://dl.doubtnut.com/l/_wnSR6atQLj05

B. are capable of producing secondary xylem and phloem

C. possess conjunctive tissue between xylem and phloem

D. are not surrounded by pericycle.

Answer: B

o Watch Video Solution

18. Anatomically fairly old dicotyledonous root is distinguished formt eh

dicotyleodnous stem by

A. absence of secondary phloem

B. presence of cortex

C. position of protoxylem

D. absence of secondary xylem

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wnSR6atQLj05
https://dl.doubtnut.com/l/_1l9kM5ofVXlo

19. The annular and spirally thickened conducting elements generally

develop in the protoxylem when the root or stem is

A. elongating

B. widening

C. differentiating

D. maturing

Answer: D

o Watch Video Solution

20. Palisade parenchyma is absent in leaves of:

A. Mustard

B. Soyabean

C. Gram


https://dl.doubtnut.com/l/_1l9kM5ofVXlo
https://dl.doubtnut.com/l/_YDzLadM1oDIw
https://dl.doubtnut.com/l/_cPhcC3fxdfFP

D. Sorghum

Answer: D

° Watch Video Solution

21. In barley stem, vascular bundles are

A. closed and scattered

B.open and in aring

C. closed and radial

D. open and scattered

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_cPhcC3fxdfFP
https://dl.doubtnut.com/l/_ySo6tzdkLdEX

22. The length of different internodes in a culm of sugarcane is variable

because of

A. size of leaf lamina at the node below each internode

B. intercalary meristem

C. shoot apical meristem

D. position of axillary buds flowering plants develop

Answer: B

o Watch Video Solution

23. Vascular tissues develop from

A. 1)periblem

B. 2)dermatogens

C.3)phellogen

D. 4)plerome


https://dl.doubtnut.com/l/_ShJ86b9E3ifT
https://dl.doubtnut.com/l/_vjNnU9L8qHWF

Answer: D

o Watch Video Solution

24, Passage cells are walled cells found in

A.phloem elements that serve as entry points for substance for

trasport to other

B.testa of seeds to enable emergence of growing embryonic axis

during seed germination

C.Central region of style through which the pollen tube grows

towards the ovary

D.endodermis of roots facilitating rapid transport of water from

cortex to pericycle.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vjNnU9L8qHWF
https://dl.doubtnut.com/l/_RZDXeb2Bk7ao



https://dl.doubtnut.com/l/_RZDXeb2Bk7ao

